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Model Test 6 (General Tamil) - TNPSC Group 2 (A)
1. ey;y ghk;tpd; eQ;R %yk; jahhpf;fg;gLk; 

typ ePf;fp kUe;J vJ? 

A) M];gphpd;  B) Nfhg;uhf;rpd; 

C) FNshuhghHk;  D) ijuhf;rpd; 

2. nghUj;Jf 
 1) ,yf;fzKilaJ - Nfhit 
 2) ,yf;fzg;Nghyp   - epyk; 
 3) k&c          - Gwefh; 

A) 3 2 1    B) 3 1 2 

C) 2 3 1   D)  2 1 3 

3. nghUj;Jf 
1) ,lf;fulf;fy;  - gwp 

 2) kq;fyk;        - fhy;fOtpte;jhd; 
3) F*cf;Fwp  -,iwtdbNrh;e;jhh; 

A) 2 1 3    B) 2 3 1 

C) 3 2 1   D)  3 1 2 

4. ,dpait ehw;gJ Ehypd; xt;nthU ghlYk; 
vj;jid fUj;Jf;fis $WfpwJ? 

A) 3 (m) 4 fUj;Jf;fs;   

B) 2 (m) 3 fUj;Jf;fs; 

C) XNu XU fUj;J kl;Lk; 

D) 2 (m) 4 fUj;Jf;fs; 

5. “ryth;” vDk; nghUs; jUk; nrhy;? 

A) gifth;   B) ez;gh; 

C) tQ;rfh;   D) Njth; 

6. “,dpait ehw;gJ” ve;j Ehy;fSs; xd;W? 

A) vl;Lj;njhif   

B) gj;Jg;ghl;L 

C) gjpndd;fPo;f;fzf;F  

D) Iq;FWq;fhg;gpaq;fs; 

7. Fw;wpaYfuk; gw;wpa $w;Wfspy; rhpahdit 
vit? 
1) Fw;wpaYfuk; vd;gJ ,ilapdnka;fspd; 
Nky; Ch;e;J tUk; cfuk; vdg;gLk; 
2) Fw;wpaYfuj;jpw;F miu khj;jpiu 

3)<w;W manyOj;jhf jdpneby;> Ma;jk;> 
caph;nka;> ty;ypdk;> nky;ypdk;> ,ilapdk; 
Mfpatw;Ws; VNjDk; Xd;wpidg; ngw;W 
tUk; 
4)neby;njhlh; Fw;wpaYfuk; kl;LNk ,uz;L 
vOj;Jf;fisg; ngw;W tUk; Vida 5k; 
,uz;Lf;Fk; Nkw;gl;l vOj;Jf;fisg; 
ngw;WtUk; 

A) 1 2 3 rhp  B) 2 3 4 rhp 

C) 1 2 4 rhp  D) 1 2 3 4 rhp 

8. Kw;wpaYfuk; gw;wpa $w;Wfspy; rhpahdit 
vit? 
m) jdpf;Fwpy; vOj;ij mLj;J tUk; 
ty;ypd cfuk; 

B) fhZ> cz;Z> cUK ,tw;wpd; 

<w;wnaOj;J nky;ypd cfuq;fs;  

C) vO> js;S> fjT ,tw;wpd; <w;wpYs;s 

,ilapd cfuq;fs;  

D) midj;Jk; rhp 

9. mk;khid vd;gJ ------------ tpisahLk; 
tpisahl;L 

A) Mz;fs;  B) Foe;ijfs; 

C) ngz;fs;  D) ,isQHfs; 

10. nghUj;Jf 
 1)Ngijahh; el;G - cLf;if ,oe;jtd; if 

Nghd;wJ 
 2) gz;Gilahh;   - tsh;gpiw njhlh;G  

Nghd;wJ 
3)mwpTilahh;   - etpy; NjhWk; el;G
 Ehy;eak; Nghd;wJ 

 4) ,Lf;fz;      - Nja;gpiwfisAk; el;G 
Nghd;wJ 

A) 4 1 3 2    B) 1 3 2 4 

C) 4 3 2 1   D) 1 4 2 1 

11. jkpopd; Kjy; mfuhjp Ehy; vJ? 

A) rJufuhjp   B) R+shkzp 
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C) njhd;Dhy; tpsf;fk;  D) Nre;jd; 

jpthfuk; 

12. “jkpo;g;grp” vd;w Ehypd; Mrphpah;? 

A) rr;rpjhde;jk; 

B) rp.it.jhNkhjdhh; 

C) fjpiuNtydhh; 

D) etePj      ghujpahh; 

13. ,dpait ehw;gJ Ehypd; Mrphpah;? 

A) fgpyh;   B) g+jQ;Nre;jdhh; 

C) fzpNkjhtpahh; D) Xsitahh; 

14. “jkpopd; kWkyh;r;rpf;fhf Njhd;wpa ftp” 
vd miof;fg;gLgth; ahh;? 

A) ghujpahh;  B)ghujpjhrd; 

C) e.gpr;r%h;j;jp  D)mg;Jy;NfhuFkhd; 

15. rr;rpjhde;jk; gw;wpa $w;Wfspy; rhpahdJ? 
1) ,th; gpwe;j Ch; ,yq;ifapYs;s 
aho;ghz khtl;lj;jpd; gUj;jpj;Jiw 

2)kfhtpj;Jthd; Nfhghy      

ghujpahhpd; khzth; ,th; 
3)Mde;jj; Njd;> md;dg+uzp> 
aho;g;ghzf;fhtpak; Mfpait ,th; vOjpa 
Ehy;fs; 
4),th; jk; ghly;fspy; fk;gdpd; kpLf;ifAk; 
ghujpahhpd; rpdg; Nghf;ifAk; xUkpj;Jf; 
fhzyhk; 

A) 1 2 3 rhp  B) 1 3 4 rhp 

C) 1 2 4 rhp  D) 1 2 3 4 rhp 

16. “Vd;? vd;d? mg;NghJ? vg;gb? vq;Nf? ahh;? 

vDk; md;Gj; njhz;lh; MWNgh;fs; mwpar; 

nra;thh; nra;jpapid” vd;w $w;wpid 

$wpath; ahh;? 

A) fpnusdpq;   B) fpg;spq; 

C) jhk];   D) uhgpd; 
17. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. “mUs;gOj;j gor;RitNa fUk;Ng 

NjNd”vd;w ghly; thpfis ghbatH 
jhAkhdtH MthH. 
2. jhAkhdtH ghly;fspd; njhFg;gpy; ,lk; 
ngw;Ws;s ghly;fspd; vz;zpf;if 1352 
MFk;. 
3. jhAkhdtH ghly;fs; jkpo;nkhopapd; 
cgepljk; vd miof;fg;gLfpwJ.  
4. jhAkhdtH Ntjhuz;ak; vdg;gLk; 
jpUkiwf;fhl;by; Nfbypag; gps;is 

vd;ghHf;Fk; nf[ty;yp mk;ikahUf;Fk; 
kfdhf gpwe;jhH. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C) 2 3 4 kl;Lk; rhp D) 1 2 3 4 rhp 

18. fPo;f;fz;l $w;Wfspy; rhpahdit? 

A) jhAkhdtH jpU%yH kugpy; te;j 

nksdFU vd;ghhplk; mUSk;> MrpAk; 
ngw;W rpwe;J tpsq;fpdhH. 

B)jhAkhdtH Kf;jp ngw;w ,lk; 

uhkehjGuj;jpYs;s uhkGuk; MFk;. 

C) jhAkhdthpd; fhyk; 20k; E}w;whz;L 

MFk;. 

D) midj;Jk; rhp 

19. nghUj;Jf: 
1. gor;Rit - vz;Zk;ik 
2. MukpHJ -6k; Ntw;Wikj; 

njhif 
3.ePq;fh 

Guhzkha;  
- gz;Gj; njhif 

4.fhyKk; 
NjrKk; 

- <W nfl;l 
vjpHkiw 
nganur;rk; 

A) 1 3 4 2   B) 2 3 4 1 

C) 1 2 3 4   D) 2 4 1 3 

20. jkpof kf;fshy; fhe;jpaf; ftpQH vd 
toq;fg;gLgtH 

A) jpU.tp.f  B)nt.,uhkypq;fdhH 

C) ghujpjhrd;  D)Nt.,uhkrhkp 

21. “fsp ,d;g ey;tho;T nfhz;L – fd;dpj; 

jkpOf;F Mw;Wf njhz;L” – vd;W ghbatH 
A) ghujpahH 

B) Nfh.m.mg;Jy; yj;jPg; 

C) Kbaurd; 

D) ghujpjhrd; 

22. ‘fhe;jpabfis miu epUthzg; gf;fphp’ 
vd;W Vsdk; nra;jtH 

A) rHr;rpy;  B) Gdpj [hH[; 

C) thud; N`];bq;]; D) ,uhgHl; fpist; 

23. fPo;rrhjp> Nky; rhjp Ntw;Wik> jPz;lhikf; 
nfhLikfs; mfy vy;NyhUf;Fk; fy;tp 
Njit vd;W $wpatH 

A) mk;Ngj;fH 

B) mNahj;jpjhrg; gz;bjH 

C) nghpahH 

D) fhe;jpabfs; 
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24. “ruRtjp gz;lhuk;” vd miof;fg;gLtJ 

A) jkpo; E}y;  B) gpw E}y; 

C) Gj;jf rhiy  D) ghly; tif 

25. “Neha;f;F kUe;J ,yf;fpak;” vd;W 

$wpatH? 

A) c.Nt.rhkpehjH 

B) kfhtpj;Jthd; kPdhl;rp Re;juk; gps;is 

C) kiwkiyabfs; 

D) ftpkzp Njrpf tpehafk; gps;is 

26. ‘njd;dhl;bd; [hd;rpuhzp’ vd;W 

fhe;jpabfs; mioj;jJ ahiu? 

A) NtYehr;rpahH B) mQ;riyak;khs; 

C) mg;G[j;jk;khs; D) Uf;Fkzp 

27. Mw;Wzh Ntz;LtJ ,y; - ,t;tbapd; 
nghUs; 

A) fw;wtDf;Fr; NrhW Ntz;lh 

B) fw;wtDf;Ff; fl;Lr;NrhW Ntz;lh 

C) fw;wtDf;Ff; fl;Lr;NrhW Ntz;Lk; 

D) fy;yhjtDf;Ff; fl;Lr;NrhW Ntz;lhk; 

28. nghUj;Jf: 
1. mize;j 

thfPrH 
- nganur;rk; 

2. nghq;Ffly; - tpidj;njhif 

3. ngUikawpe;J -2k; 
Ntw;Wikj;njhi
f 

4. mwpe;J - tpidnar;rk; 

A) 1 3 4 2   B) 1 4 2 3  

C) 1 2 4 3   D) 1 2 3 4 

29. nghUj;Jf: 
1. neLehty; - 6k; Ntw;Wikj; 

njhif 
2. edp fbJ - 4k; Ntw;Wikj; 

njhif 
3. vd;JaH - gz;Gj; njhif 
4. epd;Nfs; - chpr;nrhy; 

A) 3 4 1 2   B) 3 4 2 1 

C) 4 3 2 1   D) 4 3 1 2 

30. fPo;f;fz;l $w;Wfspy; rhpahdit? 
1. Nfhg;ngUQ;Nrhodpd; mitf;fsg; 
GytHfspy; xUtuhf tpsq;fpatH 
fz;zfdhH MthH. 

2. “jkpoH jpUehs; ij Kjy; ehshk;” vDk; 

ghliyg; ghbatH Kbaurd; MthH. 
3. tpdh  8 tifg;gLk;.  

4. tpil 6 tifg;gLk;. 

A) 1 2 kl;Lk; rhp   B) 1 4 kl;Lk; rhp 

C) 3 4 kl;Lk; rhp      D) 1 2 3 4 rhp 

31. fPo;f;fz;l $w;Wfspy; rhpahdit? 

A) mg;G+jpabfs; gpwe;j CH kUJhh; MFk;. 

B) mg;G+jpabfs; jdJ jz;zPH ge;jYf;F 

jpUehTf;furhpd; ngaiu itj;jhH. 

C) mg;G+jpabfspd; ,isa kfid ghk;G 

jPz;baJ. 

D) midj;Jk; rhp. 

32. nghUj;Jf: 
1. M - juhR 
2. Nkjp - tPL 
3. epiwNfhy; - gR 
4. kid - vUik 

A) 2 3 4 1   B) 3 4 1 2 

C) 1 3 4 2   D) 4 3 1 2 

33. fPo;f;fz;l $w;Wfspy; rhpahdit? 
1. vOj;J> nrhy;> nghUs; Mfpa 
%d;wDf;Fk; ,yf;fzk; $Wk; E}y; 
njhy;fhg;gpak; MFk;. 
2. vOj;J> nrhy;> nghUs;> ahg;G> mzp 
Mfpa Ie;J ,yf;fzq;fisAk; vOjpatH 
mfj;jpaH MthH. 

3. “ahJk; CNu ahtUk; NfspH” vDk; 

thpfs; ,lk; ngw;Ws;s E}y; mfehD}W 
MFk;. 
4. murpay; gpioj;NjhHf;F mwk; $w;whFk; 
vDk; newpia czHj;Jk; E}y; 
rpyg;gjpfhuk; MFk;. 

A) 1 2 3 kl;Lk; rhp B) 1 2 4 kl;Lk; rhp 

C) 2 3 4 kl;Lk; rhp D) 1 2 3 4 rhp 

34. nghUj;Jf: 
1. jlk; - cyfk; 
2. re;jk; - vy;iy 
3. <W - moF 
4. Gtdk; - jlhfk; 

A) 3 1 2 4   B) 3 2 1 4 

C) 3 4 1 2   D) 4 3 2 1 

35. nghUj;Jf 
1. Ngijik - - tpUg;gk; 
2. nra;if - - mwpahik 
3. thapy; - - ,Utpid 
4. Ntl;if - - Ik;nghwpfs; 

A) 1 3 4 2   B) 2 3 4 1 

C) 3 4 1 2   D) 4 1 3 2 
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36. nghUj;Jf 
1. ngWk;NgW - - Gwk;NgRjy; 
2. NfhL - - jsuhj 
3. Fwis - - tPLNgW 
4. ciyah - - nfhk;G 

A) 2 3 4 1   B) 2 1 4 3 

C) 3 4 1 2   D) 1 3 4 2 

37. nghUj;Jf 
1. $w;W - - vkd; 
2. khrpy; - - ,d;dy; 
3. ,lh; - - Fw;wkw;w 
4. Gf;F - - GFe;J 

A) 1 3 2 4   B) 3 2 1 4 

C) 1 4 2 3   D) 1 2 3 4 

38. ‘tUif’ vd;gJ ------- gUtj;ijf; Fwpf;Fk; 
A) %d;whtJ  B) MwhtJ 

C) Ie;jhtJ  D) VohtJ 

39. Kjd; Kjyhf kf;fSf;fhf (nghJ) E}y; 
epiyaq;fis mikj;j ehL 

A) fphP];   B) Nuhk; 

C) ,j;jhyp  D) Vnjd;]; 

40. ‘tpRk;G’ vd;Dk; nrhy;ypd; nghUs; 

A) Mfhak;  B) Jsp 

C) kioj;Jsp  D) Nkfk; 

41. ‘ngz;fnsy;yhk; muk;igaHNghy; xspU 

ehL” vd;w thpfs; ,lk; ngw;w E}y; 
A) ghQ;rhyp rgjk; B) kfhghujk; 

C) ,uhkhazk;  D) gftj; fPij 

42. “ciueilf; fhyk;” vd miof;fg;gLk; 

E}w;whz;L 

A) gjpNdohk;  B) gjpndl;lhk; 

C) gj;njhd;gjhk;  D) ,Ugjhk; 

43. ,tw;Ws; vj;njhlH ts;syhH $whjj; 
njhlH 

A) FUit tzq;f $rpepw;fhNj 

B) ey;NyhH kdij eLq;fr; nra;ahNj 

C) NfhNdhf;fp thOk; FbNghy; epw;fhNj 

D) grpj;NjhH Kfj;ijg; ghuhjpuhNj 

44. fPo;f;fz;l $w;Wfspy; rhpahdit? 
1. fk;gh; ehfg;gl;bdk; khtl;lk; 
kapyhLj;Jiwf;F mUfpYs;s 
NjnuOe;Jhhpy; gpwe;jhh;. 
2. fk;gh; FNyhj;Jq;fr; Nrhodpd; 
mitg;Gytuhf tpsq;fpdhh;. 

3. fk;gh; jpUntz;nza; ey;Yhh; rilag;g 
ts;syhy; Mjhpf;fg; ngw;whh;. 
4. ,tuJ fhyk; 11k; Ehw;whz;L MFk;. 

A) 1 2 3 rhp  B) 1 3 4 rhp 

C) 2 3 4 rhp  D) 1 2 3 4 rhp 

45. fPo;f;fz;l $w;Wfspy; rhpahdit? 
1. mfehD}wpy; 1>3>5 vd xw;iwg;gil 
vz;fshf tUtd ghiyj;jpiz 
ghly;fshFk;. 
2. 2>8 vd tUtd  ghlhz;jpiz 
ghly;fshFk;. 
3. 4>14 vd tUtd Ky;iyj;jpiz 
ghly;fshFk;. 
4. 6>16 vd tUtd kUjj;jpiz 
ghly;fshFk;. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C) 1 2 4 kl;Lk; rhp D) 1 2 3 4 rhp 

46. fPo;f;fz;l $w;Wfspy; rhpahdit? 

A) kNdhd;kzp fdtpy; fhjy; nfhz;l 

murd; Nrhoehl;L GUNrhj;jkd; Mthd;. 

B) Fbydpd; kfd; ngaH Re;jud; Mthd;. 

C) [Ptfdpd; muritf; FU Re;ju 

Rthkpfs; MthH. 

D) midj;Jk; rhp 

47. fPo;f;fz;l $w;Wfspy; rhpahdit? 
1. J}jpd; ,yf;fzk; $Wk; E}y; ,yf;fz 
tpsf;fk; MFk;. 
2. ntz;lis tputpa fypntz;ghthy; J}J 
,yf;fpak; ghlg;gLfpwJ. 
3. jpUkhypUQ;Nrhiy kiyapy; Nfhapy; 
nfhz;bUf;Fk; mofhpj;J gygl;lil 
nrhf;fehj gps;is vd;w GytH fpspiaj; 
J}J tpLtjhf mikj;Jg; ghbapUg;gJ 
kJiu fps;is tpL J}J MFk;. 
4. mofH fps;is tpL J}J RkhH 250 
Mz;LfSf;F Ke;ija E}yhFk;. 

A) 1 2 3 kl;Lk; rhp B) 1 2 4 kl;Lk; rhp 

C) 2 3 4 kl;Lk; rhp D) 1 2 3 4 rhp 

48. fPo;f;fz;l $w;Wfspy; rhpahdit? 
1. gygl;lil nrhf;fehjhpd; je;ij ngaH 
nrhf;fypq;fk; gps;is vd;gjhFk;. 
2. gygl;lil nrhf;fehjH kJiu 
Kk;kzpf;Nfhit> njd;wy; tpL J}J 
Kjypa E}y;fis vOjpAs;shH. 
3. mofH fps;is tpL J}J fhg;G ntz;gh 
xd;iwAk; 339 fz;zpfisAk; cilaJ. 
4. ghl;bd; ,uz;lbfisf; fz;zp vd;gH. 
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A) 1 2 3 kl;Lk; rhp B) 1 2 4 kl;Lk; rhp 

C) 2 3 4 kl;Lk; rhp D) 1 2 3 4 rhp 

49. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. “vq;fs; jha; epd; gjq;fs; ,iwQ;Rthk;” 
vDk; ghly; thpfis ghbatH ghujpahH 
MthH. 
2. tq;f nkhopapy; gf;fpk; re;jpu 

rl;Nlhghj;jpahH vOjpa “te;Nj khjuk;” 
vDk; ghlypd; nkhopngaHg;Ng “ghujpahH 
ftpijfs;” vDk; jiyg;gpy; ,lk; 

ngw;Ws;s Njrpa fPjq;fs; vDk; gFg;ghFk;. 
3. Njrpaf;ftp vd Nghw;wg;gLk; ghujpahH 
1892y; rpd;dr;rhkp ma;aUf;Fk; ,yf;Fkp 
mk;khSf;Fk; kfdhf Njhd;wpdhH. 
4. nrd;idapypUe;J ntspte;j 
RNjrkpj;jpud; gj;jphpf;iff;F cjtp 

MrphpauhfTk; “rf;futHj;jp” vd;w 

gj;jphpf;iff;F MrphpauhfTk; ghujpahH 
gzpahw;wpdhH. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C) 1 2 4 kl;Lk; rhp D) 1 2 3 4 rhp 

50. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. guzp 96 tif rpw;wpyf;fpa fSs; 

xd;whFk;. 
2. NghH Kidapy; Mapuk; ahidfis 
nfhd;W ntw;wp nfhz;l tPuiug; ghLtij 
guzp vd;gH. 

3. “Mid Mapuk; mkpil ntd;w       

khd tDf;F tUg;gJ guzp” vd;w ghly; 
thpfs; ,lk;ngw;Ws;s E}y;; ed;Dhy; MFk;. 
4. guzp vd;w ehd;kPd; fhspiaAk; 
akidAk; jd; nja;tkhfg; ngw;wJ vd;Wk; 
me;ehs;kPdhy; te;j ngaNu E}Yf;Fg; 
ngauhf te;jJ vd;Wk; jkpo;j;jhj;jh 
c.Nt.rhkpehj IaH $WtH. 

A) 1 2 3 kl;Lk; rhp B) 1 2 4 kl;Lk; rhp 

C) 2 3 4 kl;Lk; rhp D) 1 2 3 4 rhp 

51. ‘cyhkly;’ vd;Dk; E}ypd; MrphpaH 

A) xl;lf;$j;jH  B) nraq;nfhz;lhH 

C) fk;gH   D) ngUQ;rpj;jpudhH 

52. c.Nt.rh. mtHfspd; jkpo;g gzpiag; 
ghuhl;ba ntspehl;L mwpQHfs; 

A) fhy;Lngy; - nfy;yl; 

B) fkpy; Rtygpy; - khf;RKy;yH 

C) [p.A.Nghg; - R+ypay; tpd;Nrhd; 

D) `pg;ghy]; - gpisep 

53. “capHfspd; ghpzhk tsHr;rpiag; gw;wp 

$Wk; E}y;” –  
A) jpUf;Fws;  B) gjpw;Wg; gj;J 

C) GwehD}W  D) jpUthrfk; 

54. Nkhp fpA+hp – gpA+hpfpA+hp ,izaH ,ize;J 

Nehgy; ghpR ngw;w Mz;L vJ? 

A) 1911   B) 1934 

C) 1903   D) 1905 

55. Ntw;Wik> tpid> gz;G> ck;ik Mfpa 
njhifepiyj; njhlh;fSf;F Gwj;Nj 
my;yhj rpy nkhopfs; njhf;fp epd;W 
nghUs; jUtJ? 

A) ,Unganuhl;L gz;Gj;njhif 

B) md;nkhopj; njhif 

C) njhopy; ngah; 

D) tpidahyizAk; ngah; 

56.  nghUj;Jf 
 1) tpidj;njhif    - ehypuz;L 
 2) ctikj; njhif  - nra;njhopy; 

3) ck;ikj;njhif  -gtstha;Ngrpdhs; 
4) md;nkhopj;njhif  - kjpKfk; 

A) 2 4 1 3    B) 2 3 1 4 

C) 3 2 1 4   D) 3 4 1 2 

57. njhfh epiyj; njhlh; vj;jid tifg;gLk;? 

A) 6 B) 7  C) 8  D) 9 

58. jpUke;jpuk; Ehypd; Mrphpah; ahh;? 

A) jpU%yh;  B) jpUts;Sth; 

C) ek;kho;thh;  D) nghpaho;thh; 

59. Njk;ghtzp gw;wpa $w;Wfspy; rhpahdit? 
1) ,e;Ehy; ,NaR ngUkhdpd; tsh;g;Gj; 
je;ijahfpa R+irag;giuj; jiytuhff; 
nfhz;L ghlg;gl;lJ 
2) ,e;Ehy; fpwpj;Jt rkaj;jhhpd; fiyf; 
fsQ;rpak; vd miof;fg;gLfpwJ 
3) ,e;Ehy; 3 fhz;lq;fSk;> 36 glyq;fSk; 
nfhz;Ls;sJ 
4) ,e;Ehypy; ,lk;ngw;Ws;s ghly;fspd; 
vz;zpf;if 3618 

A) 1 2 3 rhp  B) 1 2 4 rhp 

C) 1 3 4 rhp  D) 1 2 3 4 rhp 

60. “ehlfk;” gw;wpa $w;Wfspy; rhpahdJ? 
1) ehlfk; vDk; nrhy; ehL + mfk; vdg; 
gphpAk;. ehl;il mfj;jpy; nfhz;lJ vd 
nghUs;gLk; 
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2) ehl;bd; fle;j fhyj;ijAk; 
epfo;fhyj;ijAk; tUq;fhyj;ijAk; jd; 
mfj;Nj fhl;Ltjdhy; ehlfk; vdg; ngah; 
ngw;wJ 
3) fijia> epfo;r;rpia czh;it ebj;Jf; 
fhl;LtJk; $j;jhf Mbf; fhl;LtJk; 
ehlfk; vd;gh; 
4) ehlff;fiyf;F $j;Jf;fiy vd;Dk; 
ngaUk; cz;L  

A) 1 2 3 rhp  B) 1 3 4 rhp 

C) 1 2 4 rhp  D) 1 2 3 4 rhp 

61. nghUj;Jf 
 1) GJf;ftpij - GJikgpj;jd; 
 2) rKjha Gul;rp - jpU.tp.f 

3) nghJTilik  - ghujpjhrd; 
 4) rpWfij - ghujp 

A) 3 4 2 1   B) 1 2 4 3 

C) 4 2 1 3  D) 4 3 2 1 

62.  “$j;jhl;litf;Fohj; jw;Nw” vDk; thpfs; 

,lk; ngw;Ws;s Ehy;? 

A) jpUf;Fws;  B) ehybahh; 

C) GwehDhW  D) rpyg;gjpfhuk; 

63. “ee;jdhh; rhpj;jpuk; Ehypd; Mrphpah;? 

 A) Nfhghy fp;U z ghujpahh; 

B) etePj fpU z ghujpahh; 

C) Rj;jhde;j ghujpahh; 

D) NrhkRe;ju ghujpahh; 

64. fk;gukhazj;jpy; cs;s Mw;Wg;glyk; ve;j 
fhz;lj;jpy;; mike;Js;sJ? 

A) ghyfhz;lk;  

B)mNahj;jpahfhz;lk; 

C) Muz;a fhz;lk;  

D)fpl;fpe;jh fhz;lk; 

65. “tpOJk; NtUk;” vDk; jiyg;gpy; ghly; 

,aw;wpAs;sth; ahh;? 

A) fz;zjhrd;  B) thzpjhrd; 

C) Kbaurd;  D) ghujpjhrd; 

66. ehlfg;ghq;fpyhd czh;TfSf;F ,yf;fzk; 
tFj;J ,Uf;Fk; Ehy;? 

A) njhy;fhg;gpak;  

B) rpyg;gjpfhuk; 

C) rptfrpe;jhkzp  

D),yf;fzg; ghl;bay; 

67.  nghUj;Jf 

1) XuwpT       - ez;L>Jk;gp>tz;L 
2) <uwpT       - Gy;> kuk; 
3) %twpT  - ej;ij> rq;F 
4) ehywpT  - vWk;G> fiuahd;> ml;il 

A) 2 4 3 1   B) 2 3 4 1 

C) 2 1 3 4   D) 2 1 4 3 

68. nghUj;Jf 
 1) tdtpyq;F  - 368 ghJfhg;G 
  ,lq;fs;  
 2) Njrpatdtpyq;F  17 
 g+q;fhf;fs;  

3) Gfyplq;fs;           - 66 

A) 1 2 3    B) 1 3 2 

C) 2 3 1   D)  2 1 3 

69. xd;wd; ,aw;ngah; jd;idf; Fwpf;fhky; 
jd;NdhL njhlh;Gila NtnwhU nghUSf;F 
Mfp tUtJ? 

A) MFngah;  B) ctikj;njhif 

C) cUtfk;  D)Ntw;Wikj;njhif 
70. nghUj;Jf 
 1) jhJ - kyh; 
 2) NghJ - kfue;jk; 

3) ngha;if  - fKfk; 
4) g+fk;   - Fsk; 

A) 1 3 4 2   B) 2 1 4 3 

C) 2 1 3 4  D)  1 3 2 4 

71. nghUj;Jf 
 1) gPyp - efk; 
 2) cfph; - gR 

3) Mop   - rf;fuk; 
4) ngw;wk;   - kapy; Njhif 

A) 3 4 1 2   B) 3 1 4 2 

C) 4 1 3 2  D) 4 2 1 3 

72. nghUj;Jf 
 1) vapW - Nrhk;gy;; 
 2) Nta; - tWik 

3) kb   - %q;fpy; 
4) ey;FuT   - gy; 

A) 4 3 1 2   B) 4 3 2 1 

C) 3 4 1 2  D) 3 4 2 1 

73. Kjw;nghUs; mjidf; Fwpf;fhky; mjd; 
cWg;Gf;F Mfp tUtJ? 

A) rpidahFngah; B) KjyhFngah; 

C) nghUshFngah; D) 2 kw;Wk; 3 rhp  

74. nghUj;Jf 
1) epyk;> eha;           - tpidjphpnrhy; 
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2) te;jJ> gbj;jhd;       - ngah; ,aw;nrhy; 
3) fspW> Gutp  - tpid ,aw;nrhy; 
4) tpdtpdhd;>  - ngah;jphpnrhy; 
 Nehf;fpdhd;   

A) 2 3 1 4   B) 4 2 3 1 

C) 4 1 3 2  D) 2 3 4 1 

75. jkpof murpd; Kjy; muritf; ftpQH ahH? 

A) ftpQH Kj;Jypq;fk; 

B) ftpaurH fz;zjhrd; 

C) ftpQH nt.,uhkypq;fdhH 

D) ftpQH ghujpjhrd; 

76. mk;Ngj;fUf;F ghuj uj;dh tpUJ toq;fpa 
Mz;L vJ? 

A) 1956   B) 1986 

C) 1990   D) 1927 

77. “tq;f rpq;fk;” vd miof;fg;gLgtH 

A) fhe;jpabfs; 

B) [t`Hyhy; NeU 

C) ty;ygha; gl;Nly; 

D) Nejh[p Rgh\; re;jpuNgh]; 

78.                      

A) mfehD}W  B) GwehD}W 

C) jpUf;Fws;  D) gjpw;Wg;gj;J 

79. NeU kfSf;F vOjpa fbjj;jpy; vjidg; 
gw;wp mjpfk; $WfpwhH? 

A) czT   B) cly; eyk; 

C) E}y;fs;  D) clw;gapw;rp 

80. gl;bdk;> ghf;fk; vd;wiog;gJ 

A) kiyia mLj;J ,Uf;Fk; CHfs; 

B) taiy mLj;J ,Uf;Fk; CHfs; 

C) fhLfis mLj;J ,Uf;Fk; CHfs; 

D) fliy mLj;J ,Uf;Fk; CHfs; 

81. jtwhd tpilia NjHe;njLj;J vOJf 

A)1949,y; Fkhurhkp Kjyikr;ruhf 

,Ue;jhH 

B)1954,y; fhkuhrH Kjyikr;ruhf ,Ue;jhH 

C)1944,y; gpufhrk; Kjyikr;ruhf ,Ue;jhH 

D)1947,y; Xke;J}H ,uhkrhkp 

Kjyikr;ruhf ,Ue;jhH 
82. ahUila Kd;NdhH fhyj;jpy; fUk;G 

rPdhtpy; ,Ue;J nfhz;L te;J 
gaphplg;gl;lJ? 

A) ghhp   B) Ngfd; 

C) mjpakhd;  D) Xhp 

83. cs;sJ rpijg;NghH csnudg; glhmH 

A) rpyg;gjpfhuk;  B) mfehD}W 

C) FWe;njhif  D) GwehD}W 

84. fk;gdpd; kpLf;ifAk; ghujpapd; rpdg;Nghf;Fk; 
xUq;Nf ,thpd; gilg;gpy; fhzyhk;  

A) gRta;ah  B) f.rr;rpjhde;jd; 

C) rp.R.nry;yg;gh  D) e.gpr;r%Hj;jp 

85. “,izapy;iy Kg;ghYf;F ,e;epyj;Nj” 
,j;njhliug; ghba ftpQH ahH? 

A) ghujp   B) jhuh ghujp 

C) Rj;jhde;j ghujp D) ghujpjhrd; 

86. “mayhH jkf;Fk; md;Ng nra;Ak; ehzk; 

nflhky; el;G nfhz;lhLk;” – ngz;ikia 

,g;gbg; Gfo;e;jtH 

A) ehkf;fy; ftpQH B) ftpkzp 

C) ghujpjhrd;  D) ituKj;J 

87. eLtz; muR ---------Mk; Mz;L nghpahhpd; 
cUtk; nghwpj;j mQ;ry; jiyia 
ntspapl;lJ. 

A) 1950   B) 1975 

C) 1978   D) 1980 

88. ehd;fhk; jkpo;r; rq;fj;ijj; Njhw;Wtpj;jtH 

A) ghz;bj;JiuahH B)kUJ ghz;baH 

C) Kj;Juhkypq;fdhH D)jpUkiy ehaf;fH 

89. ngz; mbik Mdjw;F chpa fhuzq;fSs; 
xd;W --------------- ,y;yhik. 

A) thf;Fhpik  B) Ngr;Rhpik 

C) nrhj;Jhpik  D) vOj;Jhpik 

90. nghUj;Jf: jhtu cWg;Gg; ngaHfs; 

a) %q;fpy; 1. jhs; 

b) Ntg;gk; 2. $e;jy; 

c) fKfk; 3. jio 

d) ney; 4. ,iy 

   a b c d  

A) 4 2 3 1  

B) 2 1 4 3  

C) 3 2 1 4 

D) 4 3 2 1 

91. nghUj;Jf: 

a) vq;fs; giftH 

vq;Nfh kiwe;jhH 

1. fz;zjhrd; 

b) ghl;lhsp kf;fsJ 
grp jPu Ntz;Lk; 

2. ftpkzp 
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c) vy;yhUk; vy;yhKk; 

ngw Ntz;Lk; 

3.ehkf;fy; 
ftpQH 

d)rigfspNy 

jkpnoOe;J Koq;f 
Ntz;Lk; 

4. ghujpjhrd; 

  a b c d  

A) 4 2 3 1  

B) 4 3 1 2   

C) 2 1 4 3 

D) 3 1 2 4 

92. gz;ilaj; jkpoH vUJtpLk; jpUtpohit 
vt;tpjk; mioj;jdH? 

A) kQ;R tpul;L  B) ry;ypf;fl;L 

C) VW jOTjy;  D) vUJfl;L 

93. ‘tpidNa MltHf;FapH’ vdf; $Wk; E}y; 
A) GwehD}W  B) FWe;njhif 

C) mfehD}W  D) ew;wpiz 

94. ckH fa;ahk; 11Mk; E}w;whz;by; tho;e;j ---
---------- ftpQH 

A) tq;fj;Jf;  B) rPdj;Jf;  

C) ghurPff;  D) U\paf; 

95. “mwpTTz;lhFf” vd tho;j;jpatH ahH? 
A) kzpNkfyh nja;tk; B) MGj;jpud; 

C) Mjpiu  D) mutz mbfs; 

96. cyf nkhopfSf;nfy;yhk; jha;nkhop 
jkpohfj;jhd; ,Uj;jy; Ntz;Lk; vd;w 
nkhopapay; mwpQH 

A) fhy;Lnty;  B) Nehk; rhk;Rfp 

C) ftpy; Rtygpy; D) khf;R Ky;yH 

97. “jkpourp FwtQ;rpia” - ,aw;wpatH 
A) ehkf;fy; ftpQH 

B) Qhdpaubfs; 

C) gl;Lf;Nfhl;il fypahz Re;judhH 

D) tuj eQ;irag; gps;is 

98. ‘jPk;gpop ve;jpuk; ge;jy; tUe;j’ - ,t;thpfs; 
,lk; ngw;Ws;s ghly; 

A) mfehD}W  B) GwehD}W 

C) gjpw;Wg;gj;J  D) rpyg;gjpfhuk; 

99. fPo;f;fz;l $w;Wfspy; jtwhdit? 

A) ngah;r;nrhy; msngLj;J> tpidnar;r 

nghUspy; tUk;. , vd;Dk; vOj;jpy; KbT 
ngw;wpUf;Fk;. eir,> epwP, Nghd;wit 
,d;dpir msgilf;F vLj;Jf;fhl;Lfs; 
MFk;. 

B)xw;wsngilapy; ty;ypdj;J f;> r;>l;>j;>g;>w; 

vd;Dk; MWk;. ,ilapdj;jpy; H> o; vd;Dk; 
,uz;Lk; Mf ,e;j vl;L nka;naOj;Jf;fs; 
jtpu gpw nka;naOj;Jf;fs; msngLf;Fk; 
jtpu gpw nka;naOj;Jf;fs; msngLf;Fk;. 

C) capusngilf;F %d;W khj;jpiu 

xw;wsngilf;F xU khj;jpiu MFk;. 

D) msgil 2 tifg;gLk; 

100. fPo;f;fz;l $w;Wfspy; rhpahdit? 
1. vOj;Jf;fs; gpwg;gjw;F mbg;gilf; 
fhuzkhf ,Ug;git xypaZf;fs; MFk;. 
2. vOj;Jf;fspd; gpwg;G ,lg;gpwg;G> 
Kaw;rpg;gpwg;G vd ,Utifg;gLk;. 
3. ,lg;gpwg;G> khh;G> fOj;J> jiy> %f;F 
MFk;. 
4. Kaw;rpg; gpwg;G ,jo;> eh> gy;> 
mz;zk;,%f;F MFk;. 

A) 1 2 3 kl;Lk; rhp   

B) 1 3 4 kl;Lk; rhp 

C) 2 3 4 kl;Lk; rhp   

D) 1 2 3 4 rhp 
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Model Test 6 (General English) - TNPSC Group 2 (A)
1. If you have tears, prepare to shed them now  

You all do know this mantle …… 

These are the words of 

A) Brutus   B) Julius Caesar 

C) Casca   D) Mark Antony 

2. The author of “Making visible the invisible” is 

A) KalpanaChawla B) Rex Coker 

C) Oscar Wilde  D) Kalpana Sharma 

3. Complete the following poetic lines by choosing 

the correct option given below. 

A child sitting under the Piano in the boom of 

the tingling _______. 

A) rings   B) strings 

C) Springs   D) brings 

4. The distance between Nilgiris and the 

Himalayas is 

A) 2400 Km  B) 1200 Km 

C) 4200 Km  D) 3200 Km 

5. ___________ suffered from dyslexia and 

counldn‟t focus for too long on any one activity. 

A) Albert Einstein  

B) Thomas Alva Edision 

C) Agatha Christie   

D) Leonardo Da Vinci 

6. “And hymns in the cosy parlour, the tinkling 
piano our guide” 

Here the „parlour‟ is: 
A) a room   B) a hotel 

C) a beauty clinic  D) a theatre 

7. Who among the following wrote the play “The 
Merchant of Venice”? 

A) D.H. Lawrence   

B) Robert Browning 

C) KalpanaChawla   

D) William Shakespeare 

8. “I won‟t look down.  No I will not” 

„I‟ refers to: 
A) a tiger   B) an ant 

C) a giant   D) a migrant bird 

9. “A Race in the Space” tells about 
A) KalpanaChawla B) Rakesh Sharma 

C) A.P.J. Abdul Kalam D) Sunita Williams 

10. “The hightest result of education is tolerance” 
___ Identify the speaker. 

A) Annie Louisa Walker 

B) Indra Gandhi 

C) Helen Keller   

D) Sarojini Naidu 

11. Gokhale‟s motivational speech, addressing the 
students was delivered in Mumbai in July 

A) 1941   B) 1945 

C) 1931   D) 1911 

12. Kalpana Chawla was born on 

A) 1
st
 July 1950  B) 1

st
 July 1951 

C) 1
st
 July 1960  D) 1

st
 July 1961 

13. The children entered the giant‟s garden through 

A) the rear gate 

B) a little hole in the wall 

C) the main gate 

D) a small gate 

14. The repetition of a line or lines through a poem, 

at given intervals is 

A) an alliteration  B) an oxymoron 

C) a simile   D) a refrain 

15. Choose the correct American English word for 

the following British English word Autumn 

A) Winter   B) Fall 

C) Spring   D) Summer 
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16. Who is the Indian American women settled in 

America? 

A) Edgar.A. Guest B) Nakasha Ahmed 

C) Sunita Williams D) Robert Frost 

17. Match the following words with their meaning 

and select the answer from the codes given: 

1. Stew - Driving or chasing 

away 

2. Shooing - A dish of meat 

cooked slowly 

3. Hauls 

back 

- A small seed 

4. Lentil - Pulls back 

A) 2413   B) 1423 

C) 2143   D) 3412 

18. The nick name of George Washington carver 

was 

A) Brave hero  B) George the great 

C) A challenger  D) The plant doctor 

19. In whose Biography do you find this statement 

“Listen to the sounds of nature.  Take good care 
of our fragile planet” 

A) Sunita Williams  

B) Annie Louisa Walker 

C) Douglas Malloch  

D) Kalpana Chawla 

20. Identify the compound word of “Adjective + 
Adjective”. 
A) star light  B) flash light 

C) light sensitive  D) light green 

21. What do you mean by linguistics? 

A) The study of phonemes 

B) The study of speeches of organs 

C) The study of languages 

D) The study of manners of articulation  

22. What is the theme observed in the literary work 

„Where the mind is without fear‟ 
A) Value of Education B)God fearing 

C) Environment  D) Patriotism 

23. „Let me not to the marriage of true minds admit 
impediments. Love is not love what does 

impediment mean? 

A) Love   B)Mind 

C) Marriage  D)Obstacle 

24. Who said this to whom? 

“I thrice presented him a kingly crown, 
Which he did thrice refuse” 

A) Antony to Brutus 

B) Antony to the citizens of Rome 

C) Brutus to Caesar 

D) Caesar says to Brutus 

25. Match the singular in Column A with the 

relevant plural in Column B : 

A    B 

(A) Aquarium  1. Daughters-in-law 

(B) Focus   2. Crises 

(C) Crisis   3. Aquaria 

(D) Daughter-in-law 4. Foci 

 (A) (B) (C) (D) 

A) 3 2 4 1 

B) 3 4 2 1 

C) 1 2 4 3 

D) 4 1 2 3 

26. Match the synonym in Column A with the 

relevant meaning in Column B 

A   B 

(A) Futile             1.A formal religious  function         

(B) Perils  2. Useless 

(C) Lapsed into 3. Dangers 

(D) Ceremony 4. Passed gradually 

    (A)       (B) (C) (D) 

A) 2 1 4 3 

B) 1 4 2 3 

C)4 1 3 2  

A) 2 3 4 1 

27. Buffet is known as 

A) the model millionaire 

B) the legendary donator  

C) the legendary investor 

D) a great philanthropist 

28. The autobiography „My Experiments with 
Truth‟ is written by  
A) Jawaharlal Nehru  

B) Sarojini Naidu 

C) Mahatma Gandhi  
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D) Dr. B.R. Ambedkhar 

29. Match the given prefix in column A with the 

root words in column B to form a new word and 

mark the correct code. 

S.No. Column 

A 

Column B 

1. Un - operation 

2. In - able 

3. Non - direct 

4. Post - vegetarian 

A) 1423   B) 2341 

C) 3214   D) 4132 

30. Match column A with column B and select the 

correct code given below: 

S.No. Column A Column B 

1. The 

elephant is 

bigger than 

any other 

animal 

- Superlative 

2 No other 

pen is so 

costly as 

parker 

- 

Comparative 

3. Akbar was 

the greatest 

mughal 

king 

- Positive 

4. Silk is not 

as rough as 

cotton 

- Positive  

A) 4213   B) 2413 

C) 3241   D) 3412 

31. Select the correct plural form of „Alphabet‟. 
A) Alphabets  B) Alphabeta 

C) Alphabet  D) Alphabeti 

32. Identify the correct sentence: 

A) Ravi has polished his shoes yesterday 

B) Spectator have throw the rubbish all over the 

field 

C) The police have catch the thief 

D) Leena has taken her father to the clinic. 

33. Fill in the blanks with correct preposition from 

the options given below: 

The report has to be submitted ______ a week 

A) on   B) at 

C) within   D) of 

34. Identify the sentence with „Adjective‟. 
A) Mini arrived late   

B) He ate the whole apple 

C) Ram runs fast 

D) Gopi reads clearly 

35. Choose the statement that takes the question tag: 

„isn‟t it‟? 

A) This lesson was easy  

B) This lesson is not easy 

C) This lesson is easy 

D) This lesson was not easy 

36. Find out the (correct sentence with) suitable 

verb form from the options given below: 

A) Sachin is playing cricket yesterday 

B) Sachin will be playing cricket yesterday 

C) Sachin has been playing cricket yesterday 

D) Sachin was playing cricket yesterday 

37. Choose the correct pair of homophones to 

complete the following sentence: 

The thief broke open the _________ almirah to 

_______ the jewels. 

A) lone – loan  B) steel – steal 

C) bear – bare  D) role - roll 

38. Match the following phrases with their 

meanings and select the answer from the codes 

given below: 

S.No. Phrases Meanings 

1. Come 

back to 

- to lead to a 

final result 

2. Come 

down to 

- to climb 

3. Come 

along 

- to return to 

4. Come up - to go with 

someone 

A) 3421   B) 3142 

C) 4312   D) 2413 

39. Match the following words with the suitable 

meaning and mark the correct code given 

below: 

1. Stooping - Making 
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continuous low 

sound 

2. Drooping - Expression of 

pain 

3. Droning - Closing due to 

tiredness 

4. Moaning - Bending forward 

A) 4312   B) 3124 

C) 2134   D) 4213 

40. Find out the correct compound word for Gerund 

+ Noun from the options given below: 

A) Sun rise  B) Washing machine 

C) Fast food  D) Cat walking 

41. Identify the poet who wrote the following lines: 

“If this be error and upon me prov‟d 

I never writ, nor no man ever lov‟d”. 
A) Walt Whitman   

B) William Wordsworth 

C) William Shakespeare  

D) H.W. Longfellow 

42. Read the passage and select the correct 

statement: 

“ ….Music is not part of “ arts and 
entertainment” 

….It is not a luxury, a lavish thing…” 

A) Music is not essential  

B) Music is an entertainment 

C) Music is a pastime 

D) Music is indispensable 

43. “Rich in traditions the ancient temple town has 

acquired its very own mythologies, evolving its 

own customs and festivals” 

The town mentioned here is 

A) Thanjavur  B) Chennai 

C) Madurai  D) Delhi 

44. Among the following poems which one is 

written by Walt Whitman. 

A) The Solitary Reaper  

B) O Captain! My Captain  

C) Be the best 

D) Sonnet No: 116 

45. Dr. Karl Paulnack, the director of the music 

division, is a 

A) Guitarist  B) Violinist 

C) Pianist   D) Cellist 

46. “To India – My Native Land” was written by 

A) Leslie Norris   

B) David Roth 

C) Anonymous   

D) Henry Louis Vivian Derozio 

47. “If the women of Asia wake up they will dazzle 
the world”. 
Who said these words? 

A) Julius Caesar  B) Jawaharlal Nehru 

C) Mother Teresa  D) Mahatma Gandhi 

48. The author of “MIGRANT BIRD” is 

A) Famida. Y. Basheer  

B) Robert Frost 

C) Elizabeth Barrett Browning 

D) Rudyard Kipling 

49. Dr. A.P.J. Abdul Kalam served as the 11
th

 

President of India from the period: 

A) 2001 to 2006  B) 2002 to 2005 

C) 2002 to 2007  D) 2003 to 2008 

50. The poem “A Psalm of life” underlines the need 
of: 

A) Nationalism  B) Patriotism 

C) Optimism  D) Pessimism 

51. “Are we discouraged, W? 

Of course we are nor O”! 
„O‟ – here stands for 

A) Oscar Wilde  B) Orville Wright 

C) O‟ Henry  D) Obams 

52. Replace the underlined British word with its 

American equivalent. 

Vidhya is eating Chips. 

A) Snacks   B) French Fries 

C) Cookies  D) Candies 

53. Identify the poetic line that differs from others: 

A) If you can‟t be a bush, be a bit of the grass 

B) Guesting a while in the rooms of a beautiful 

inn 

C) O ye wheels …. Stop! Be silent for today! 

D) The globe‟s my world, the cloud is my kin 
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54. “The feet of God when he journeyed from the 
East to the West of the Universe”. 
A) Where the mind is without fear 

B) the psalm of life 

C) Earth 

D) The Apology 

55. The poem “Earth” is taken from a collection of 
poems entitled 

A) The cry of the children  

B) Punishment in Kindergarten 

C) The Eye of the Prophet 

D) Going for water 

56. Alliteration is the use of the same ____ ___ or 

______ at the beginning of words that are close 

together. 

A) Vowels or consonants  

B) Letters or sound 

C) Syllables or nouns  

D) Sounds or syllables 

57. __________ is a room in a private house for 

sitting or entertaining visitors. 

A) Kitchen   B) Rest room 

C) Parlour   D) Dining room 

58. “He hears the last voice at night”.  This line 
occurs in 

A) A Tiger in the Zoo  

B) To India – My Native Land 

C) Nine Gold Medals 

D) Footprints 

59. Match the following British English words in 

Column A with the relevant American words in 

Column B 

S.No. Column 

A 

Column B 

1. Tap - gasoline 

2. Petrol - fall 

3. Autumn - cab 

4. Taxi - faucet 

A) 4123   B) 1423 

C) 1234   D) 3142 

60. The twin towers of the World Trade Centre in 

New York USA was attacked and destroyed on 

A) August 21,2001  

B) September 11, 2001 

C) September 21, 2001  

D) August 11, 2001 

61. Read the passage and select the correct sentence 

from the options given: 

“…… The stronger, the firmer and nobler it is, 
the better work you will do for the country”. 
A) knowledge makes you do the better work 

B) character makes you do the better work 

C) a teacher makes you do the better work 

D) the Government makes you do the better 

work 

62. Match the following poetic lines in Column A 

with the poets in Column B and select the 

correct option: 

S.No. Column A Column B 

1. Exult, O 

shores!and 

ring, O bells 

- William 

Wordsworth 

2. Be the best 

of whatever 

you are! 

- Lewis 

Caroll 

3. Echoes fade 

and 

memories 

die 

- Douglas 

Malloch 

4. I saw her 

singing at 

her work 

- Walt 

Whitman 

A) 4321   B) 3214 

C) 2134   D) 1234 

63. Choose the best answer and complete the 

sentence. 

The first collected edition of Shakespeare‟s 
sonnets appeared in 

A) 1609   B) 1611 

C) 1671   D) 1680 

64. Suddenly _____ sprang up, offering to 

demonstrate a few magic tricks to the family 

A) Mom   B) Shelly 

C) Celine   D) Hubert 

65. Which state does the poet, Kamala Das belong 

to 

A) Tamilnadu  B) Kerala 
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C) Maharashtra  D) Karnataka 

66. Pick out William Wordsworth‟s poem. 
A) Manliness   

B) The Solitary Reaper 

C) Migrant Bird   

D) Be the Best 

67. Choose the option that completes the given 

sentence: 

H.W. Longfellow‟s „A Psalm of life‟ is taken 
from 

A) Hiawatha   

B) Voices of the Night 

C) Ballads    

D) Evangeline 

68. In whose poem the following line occurs? 

“We can‟t all be captains, we‟ve got to be 
crew”. 
A) Walt Whitman  B) DoughlasMalloch 

C) Hope spencer  D) Rudyard Kipling 

69. In which poem the theme of the life-giving force 

of Nature is followed 

A) Snake    

B) In search of a Friend 

C) What Trees are For 

D) Inclusion 

70. „The National Anthem' was written by  
A) SundaramPillai 

B) Rabindranath Tagore 

C) Thiru V. Ka 

D)NamakkalKavignar 

71. Shakespeare wrote ______Sonnets. 

A) 200   B) 100 

C) 175   D) 154 

72. What is the theme applied in the poem? 

"Be the Best”. 
A) Patriotism  B) Confidence 

C) Positive Thought D) Self Awareness 

73. “No One becomes a farmer by pouring in 
money. Dumping fertilisers and raising a crop of 

paddy”.Whose words are these? 

A) Kuttichovan  B) Kesavan Nair 

C) Outhakutty  D) KuttyMappila 

74. Match the places given in Column A with the 

cities where they are situated given in Column 

B. 

Column A Column B 

(A)Prahadeesvarar 

Temple 

(B) Elephant Hills 

(C) Mountain 

Railways 

(D) Empoli 

1. Darjeeling 

 

2. Tanjore 

 

3. Italy 

4. Madurai 

 (A) (B) (C) (D) 

A) 2 3 4 1 

B) 3 1 2 4 

C) 2 4 1 3 

D) 4 3 1 2 

75. Fill in the Blank with correct question tag. 

Let us go to the market _____? 

A) Are we?  B) Aren‟t we? 

C) Shouldn‟t we?  D) Shall we? 

76. Choose the correct blending word from the 

given options for “Breakfast + Lunch"  
A) Break lunch  B) Fastlunch 

C) Blunch   D) Brunch 

77. Pick out the correct passive form of the verb for 

the given sentence : 

They called Manu 

A) called   B) was called 

C) has been called  D) would be called 

78. Choose the correct simple sentence from the 

following options  

A) choose the challenging and reachable goals 

B) choose the challenging but reached goals 

C) though the goals are challenging you can 

choose them 

D) though goals are reachable choose the 

challenge 

79. „How I wish I could be like that girl‟.  This line 
occurs in “ ____________”. 
A) “The Wooden Bowl”  

B) “A Mother‟s Day Gift” 

C) “The Power of Laughter” 

D) “The Unforgettable Johny” 
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80. Which one of the following is written by Walt 

Whitman? 

A) A Psalm of Life   

B) The Man He Killed 

C) Sonnet: 116   

D) O‟ Captain! My Captain! 
81. Match the story title with the Characters: 

1. Antonio - Farmer 

2. Kesavan Nair - Mercy and 

Justice 

3. Phatik 

Chakravarthy 

- Necklace 

4. Metilda - Holiday 

A) 1234   B) 2143 

C) 4132   D) 3142 

82. Manohar Devadoss is ________ by profession. 

A) A historian  B) A doctor 

C) A player  D) A scientist 

83. Match the short stories under Column A with 

their authors under Column B and choose the 

correct code 

S.No

. 

Column 

A 

Column B 

1. Swept 

Away 

- O‟ Henry 

2. The 

Last 

Leaf 

- Oscar wilde 

3. Caught 

Sneezin

g 

- Saki 

4. The 

Open 

Windo

w 

- 

SuaannahHicklin

g 

A) 4123   B) 3214 

C) 1324   D) 4213 

84. The software JAWS can convert any printed 

material into 

A) Voice   B) Music 

C) Book   D) Picture 

85. Fill in the blank choosing the correct answer 

given below: 

The three animals complained about the 

indifference of the Camel to _______ 

A) God    

B) The king of animals  

 C) A Lion 

 D) The Djinn 

86. „Egret‟ is a name of ____________. 
A) A Dog   B) A Flower 

C) A Bird   D) A Plant 

87. Identify which part the given sentence has an 

error. 

One of the  boy   is  hardworking 

(1)   (2)     (3)     (4) 

A) (3) B) (4)  C) (2)  D) (1) 

88. Choose the correct antonym for the underlined 

word from the options given. 

He had only meant to stimulate Lady Anstey 

A) perplex   B) discourage 

C) implicate  D)provoke 

89. Find out the suitable prepositions to fill in the 

following passage. 

Business territory was developed (A) response 

(B) teachers asking (C) multimedia resources 

designed specifically (D) classrooms. 

(A) (B) (C) (D) 

A) in to the in 

B) in to for for 

C) for in to for 

D) to for in to 

90. Fill in the blanks with the suitable articles. 

_____apple per day keeps ______ doctor away. 

A) an, a   B)a, the 

C) an, the   D)the, a 

91. Match the words in Column A with the suffixes 

in Column B. 

Column A   Column B 

(A) attain   1. ity 

(B) eager   2. ful 

(C) success  3. ment 

(D) mortal   4. ness 

     (A) (B) (C) (D) 

A) 3 4 2 1 

B) 1 2 3 4 

C) 4 2 1 3 
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D) 2 1 4 3 

92. Identify the sentence which is in the superlative 

degree 

A) Come as soon as possible 

B) She is senior to all her colleagues  

C) Tajmahal is one of the most beautiful 

buildings 

D) It is indeed a major problem 

93. The King summoned his subjects for a mass 

prayer. Here „summoned‟ means 

A) dictated  B)ordered 

C) gathered  D) called 

94. Which of-the following is not a tragedy by 

William Shakespeare? 

A) Julius Caesar 

B) Romeo and Juliet 

C) Antony and Cleopatra  

D) Twelfth Nigh 

95. Choose the correct meaning of the word 

Underlined. 

“As humble plants by country hedgerows 
growing that treasure up the rain” what are 
“humble plants”? 

A) beautiful plants B) ordinary plants 

C) extraordinary plants D) rare plants 

96. Select the correct answer to complete the 

sentence from the options given below: 

_____ is a long and different walk over 

mountains or through forests. 

A) Trekking  B) Voyage 

C) Journey   D) Migration 

97. “Streams will flow through me, I‟ll be the home 
of eagles 

I‟ll be full of nooks, crannies, valleys and 
fountains” 

I am going to be ______ 

A) an ocean   

B) a tree 

C) a range of mountains  

D) a bush 

98. The following poetic lines are from 

“We ran as if to meet the moon 

That slowly dawned behind the trees” 

A) Going for water  

B) Shilpi 

C) Snake    

D) “Is life but a dream” 

99. Identify the poem in which the following lines 

occur? 

''But the smallest among them, he stumbled and 

staggered And fell to the asphalt instead” 

A) Foot prints   

B) Mine Gold Medals 

C) In search of a friend  

D) Bat 

100. Choose the correct option from the 

following  

The Greek Word for Earth is _______. 

A) Bhoomimatha  B) Canopy 

C) Pangea   D) Gaia 
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Model Test 6 (General Studies) - TNPSC Group 2 (A)
1. xsp ,iofs; topNa xspr;irifis 

mDg;g gad;gLj;jg;gLk; nfhs;if. 

A) FWf;fPl;L tpisT 

B) xsp tpspk;G tpisT 

C) js tpisT  

D) KO mf vjpnuhspg;G 
2. fPo;f;fhZk; $w;Wfspy; A+hpahit Fwpj;j 

ve;j $w;W jtwhdJ? 

A) kz;zpd; pH jd;ikia khw;whJ. 

B) A+hpahtpy; iel;u[d; rjtpfpjk; kpf 

mjpfkhf 76.6 % cs;sJ. 

C)jPg;gpbj;jy;/ntbf;Fk; jd;ikfSf;F 
mg;ghw;gl;lJ. 

D) vy;yh tpjkhd gaph;fSf;Fk; / 
kz;zpw;Fk; cukhf Vw;wJ. 

3. kpfr;rpwe;j kpd; flj;jpahf cs;s fhh;gdpd; 
Gw Ntw;Wik tbtk; vJ? 

A) ituk;   B) fpuhigl; 

C) fy;fhp   D) kuf;fhp 
4. g;sf;ld;ifkh vd;gJ 

A) ghud;ifkh   

B) Nfhyd;ifkh 

C) ];fPspud;ifkh  

D) G+Q;irapd; cly; ,iofs; 
5. jhtuj;jpd; ve;j gFjp gpy;Nyhlhf 

cUkhhpAs;sJ? 

A) jz;L   B) ,iy 

C) ,iyf;fhk;G  D) jz;bd; Ezp 
6. ghypy; fhzg;gLk; jhJg;nghUl;fs; 

I) fhy;rpak;  II) gh];gu]; 

III) ,Uk;G  IV) itl;lkpd; C 

A) I kw;Wk; II  B) II kw;Wk; III 

C) III kw;Wk; IV  D) I kw;Wk; IV 
7. xU [Pd;-xU nehjp Nfhl;ghl;il 

cUthf;fpath;. 

A) thl;]d; kw;Wk; fphpf; 

B) N[f;fg; kw;Wk; Nkhdhl; 

C) gPby; kw;Wk; Nll;lk; 

D) Nyd;];Bdh; kw;Wk; tPd;ngh;f; 
8. fPo;fz;ltw;Ws; vJ kpf rpwe;j xw;iw epw 

xspia nfhLf;Fk;? 

A) nkOFth;j;jp  B) gy;G 

C) nkh;f;Fhp tpsf;F D) Nyrh; xsp%yk; 
9. fPo;fz;ltw;Ws; rhpahdit vit? 

I) kPnahypapd; miythpir> Nfl;Fk; 
miythpiria tpl mjpfk;. 

II) kPnahypapd; Ntfk; xypapd; Ntfj;ij 
tpl FiwT 

III) kPnahypapd; miyePsk; FiwT 

iv) kPnahypfs; fs;s &gha; Nehl;Lfis 
Nrhjpf;f gad;gLfpwJ 

A) i, ii and iii  B) i, ii and iv 

C) i and iii  D) i and iv 

10. gl;bay; I cld; gl;bay; II Ig; nghUj;jp> 
mtw;wpw;Ff; fPNo cs;s njhFg;gpypUe;J 
rhpahd tpilapidj; njhpT nra;f: 

 gl;bay; I gl;bay; II 
A) jhypak; - b. Mf;rpilrh; 

B) mYkpdpak; - gw;fs; 
njhlh;ghd Ntiy 

C) Nghuhd; - Nkhjpug;GO 
fspk;Gfs; 

D) ,z;bak; - my;l;uh nkiud; 

A) 2134   B) 3412 

C) 4321   D) 1234 

11. „my;rPkh;‟]; Neha;‟ cld; njhlh;Gila 
cNyhfk;. 

A) FNuhkpak;  B) fhl;kpak; 

C) mYkpdpak;  D) Mh;rdpf; 
12. <];l; nry;fs;> xapd; jahhpf;Fk; NghJ 

fPo;f;fz;ltw;wpy; vJ 
cz;lhf;fg;gLtjpy;iy? 

A) mrpl;ily; Nfh v  
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B) vj;jpy; My;f`hy; 

C) fhhgd;-il-Mf;i]L 

D) igUtpf; mkpyk; 

13. vJ Fwpj;j jfty;fs; „rptg;G juT 

Gj;jfj;jpy‟ ; cs;sd. 

A) nrq;flypy; cs;s caphpdq;fs; 

B) mfr;rptg;G fjph;fs; 

C) rptg;G epwkpfSila jhtuq;fs; 

D) mopAk; epiyapYs;s ,dq;fs; 
14. kNyhpah kw;Wk; lhf;Nrh gpsh];Nkhrp]; I 

cz;lhf;Fk; fhuzp vJ? 

A) GNuhl;NlhNrhtd;fs ; B)G+Q;irfs; 

C) ghf;Bhpahf;fs;  D)itu];fs; 

15. 2018 – ம் ஆண்டு பஷ்னாயில் ஥டைப஧஫ உள்஭ 

உ஬கககாப்ட஧ கால்஧ந்துப் க஧ாட்டிக்கா஦ 

அதிகாபப்பூர்ய சின்஦ம்                                                                                    

A) ஓ஥ாய்     B) சிங்கம்                                                   

C) பூட஦     D) பு஬ி  
16. ஥ியூசி஬ாந்து ஥ாட்டின் ஧ிபதநபாக பதாைர்ந்து 8 

ஆண்டுகள் ஧தயி யகித்தயர்                                                                                   

A) ஆர்.எம்.க஬ாதா   B) ஜான் கக                                                   

C)  ஜி.எல்.஧ரீிஸ்   D)எச்.எல்.தத்து  

17. Cyber Pathsala  என்஫ புத்தகத்தின் ஆசிரினர்  

A) தய௃ண் யிஜய்                        

B) கல்கி    
C) பஜனகாந்தன்                        

 D) ஧ிபகாஷ் ஜயககைகர்  

18. பபாக்கநில்஬ா ஧ண஧ரியர்த்தட஦களுக்காக ப஧ட்கபால் 

஧ங்க் -  க஭ிைம் ஒப்஧ந்தம் பசய்துள்஭ ஥ிறுய஦ம்                                                                                                            

A) SBI   B) Paytm                                                                          

C) Google   D) ICICI                                                 
19. fPNo nfhLf;fg;gl;Ls;s ,U gphpitAk; 

nghUj;jp rhpahd tpilia jUf: 
 gphpT I gphpT II 

A) ];ngh;NkNlh/igl;Lfs; -jhtu 
cyfpd; 
ePh;epy 
tho;td 

B) [pk;Ndh];ngh;k;fs; - th];Fyhh; 
jpRf;fSld; 
$b 
G+thj;jhtuk; 

C) nlhpNlh/igl;Lfs; -jpwe;j 
tpijAila 
jhtuk; 

D) gpiuNah/igl;Lfs; -tpijj; 
jhtuq;fs; 

A) 3412   B) 3421 

C) 4312   D) 4321 

20. yf;]; - g;sl; nfhs;ifapd; gb xU fhuk; 

vd;gJ 

A) i`l;uhf;i]L mad; toq;fp 

B) GNuhl;lhd; Vw;gp 

C) vyf;l;uhd; toq;fp 

D) Mf;i]L mad; toq;fp 

21. fPo;f;fhZk; gphpj;njLf;Fk; Kiwapy; 

xLf;Fk; fhuzp Njitaw;w Kiw vJ? 

A) N`kill;bypUe;J ,Uk;G 

B) ghf;i]l;bypUe;J mYkpdpak; 

C) rpd;dghhpypUe;J ghjurk; 

D) rpq;f; gpsd;NlapypUe;J Jj;jehfk; 

22. fPNo nfhLf;fg;gl;lij nghUj;jp rhpahd 

tpilia Njh;e;njLf;f 

I II 
a) gRq;fzpfk; 1.bf;bNahNrhk;

fs; 
b)ikl;Nlhfhz;l;hpahd; 2.ijyf;fha;l;

]; 
c)vz;Nlhgpshr tiy 3.fphp];Nl 

d) Nfhy;fp cWg;Gfs; 4.rp];lh;Nd 
 a

) 
b

) 
c

) 
d

) 
A

) 
2 3 4 1 

B

) 

3 4 1 2 

C

) 

4 1 2 3 

D

) 

4 1 3 2 

23. ,.vk;.gp topj;jlk; vd;gJ xU .................. 

epfo;thFk;. 

A) xspr;Nrh;f;if  B) xspr; Rthrk; 

C) Rthk;   D) ePuhtpg; Nghf;F 

24. fPo;fz;ltw;Ws; vJ gak; czh;r;rp kw;Wk; 

,uj;j mOj;jj;ij mjpfg;gLj;j fhuzkhf 

cs;sJ? 

A) mbhpdy; Rug;gp B) gpdpay; Rug;gp 

C) ghuhijuha;L Rug;gp D) ijk]; Rug;gp 

25. cs; tl;lj;jpYs;s ehd;F Nfhs;fs; 

A) tpahod;> rdp> a+Nud]; kw;Wk; nrt;tha; 

B) Gjd;> nts;sp> Gtp kw;Wk; nrt;tha; 

C) Gjd;> nts;sp rdp kw;Wk; nrt;tha; 
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D) Gjd;> nts;sp> Gtp kw;Wk; tpahod; 

26. tpLg;l;l vOj;ij fz;Lgpb 

XYZ, ABC, UVW, DEF, RST, GHI 

A) UVW   B) JKL 

C) OPQ   D) NOP 

27. mZf;fU tpidapy; jdpkk; X ahJ? 

 ܰ +   𝐻𝑒2
4

  → 𝑋 +  ܲ1
1

7
14  

A)  ܰ7 
17    B)  ܱ8 

17  

C)  𝐹9 
17    D)  ܰ𝑒10

18  

28. xU Fjpiu jpwd; = 

A) 646 thl;  B) 684 thl; 

C) 746 thl;  D) 846 thl; 

29. ,uz;L cUisfspd; cauq;fspd; tpfpjk; 

1:2 kw;Wk; mtw;wpd; Muq;fspd; tpfpjk; 2:1 

vdpy;> mtw;wpd; fd msTfspd; tpfpjk; 

A) 4:1   B) 1:4 

C) 2:1   D) 1:2 

30. xU jpz;k Neh;tl;lf; $k;gpd; fd msT 

1782 f.nr.kP mjd; cauk; 21 nr.kP vdpy 

mf;$k;gpd; Muj;ijf; fhz;f 

A) 6 nr.kP  B) 7 nr.kP 

C) 8 nr.kP  D) 9. nr.kP 

31. xU Kf;Nfhzj;py; Nfhzq;fs; 3:4:5 vd;w 

tpfpjj;jpy; cs;sd. me;j Nfhzq;fisf; 

fhz;f 

A) 60°, 60°, 60°  B) 40°, 60°, 80° 

C) 45°, 60°, 75°  D) 45°,45°, 90° 

32. A : B = 7 : 8, B : C = 24 : 9  vdpy; A : B: C - I 

fhz;f 

A) 12 : 20 : 8  B) 21 : 24 : 9 

C) 21 : 12 : 19  D) 7 : 8 : 9 

33. 2235 khzth;fs; cs;s gs;spapy; 1275 

khzth;fs; A gphptpYk;> 215 khzth;fs; B 

gphptpYk; kPjp khzth;fs; C gphptpYk; 

,Uf;fpwhh;fs; vdpy; gphpT C y; cs;s 

khzth;fspd; rjtPjk; vd;d? 

A) 33%   B) 30
1

3
% 

C) 30%   D) 33
1

3
% 

34. mgpuhkjp xU gazg; igia &. 2730 

nfhLj;J thq;Ffpwhs;. mt;tpiyapy; 5% 

kjpg;Gf; $l;L thpAk; (VAT) 

mlq;fpapUf;fpwJ. kjpg;Gf; $l;L thpia 

Nrh;f;fhky; gazg;igapd; tpiy vd;d? 

A) &. 2700  B) &. 2530 

C) &. 2630  D) &. 2600 

35. 
1

3
  kw;Wk; 

1

4
  d; $LjyhdJ 

1

3
  kw;Wk; 

1

4
  d; 

tpj;jpahrj;jpd; klq;F x vdpy; d; kjpg;igf; 

fhz;f 

A) 9   B) 8 

C) 6   D) 7 

36. Fkhh; vd;gthpd; khj rk;gsk; &. 54>000 

mjpy; 
1

6
 ghfk; thliff;Fk;> 

1

3
 ghfk; 

fy;tpf;Fk;> 
1

4
 ghfk; Nghf;Ftuj;jpw;Fk; nryT 

nra;fpwhh;. kPjpia Nrkpj;J itf;fpwhh; vdpy; 

Nrkpf;Fk; njhif 

A) &. 12>000  B) &. 12>500 

C) &. 13>000  D) &. 13>500 

37. 1764 gf;]hh; Nghhpy; Mq;fpyg; gilapd; 

jiyik jsgjp ahh;? 

A) vy;yp];  B) N`hy;nty; 

C) Nk[h; kd;Nuh  D) thud; N`];bq; 

38. nghUj;Jf 

a) te;Nj 
khjuk; 

1.,utPe;jpuehj; 
jh$h; 

b) Njrpa 
fPjk; 

2.lhf;lh; 
mk;Ngj;fhh; 

c)mypfhh; 
,af;fk; 

3.gf;fpk;re;jpurl;lh;
[p 

d)gfp];fphpl; 
fpl;fhhpzp 

4.rh; iraJ 
mfkJ fhz; 

 a
) 

b

) 
c

) 
d

) 
A

) 

3 1 4 2 

B) 1 3 2 4 

C) 2 4 3 1 

D

) 

4 2 1 3 

39. C = 3, CALL = 28 vdpy; CELL MdJ 

A) 30   B) 31 

C) 32   D) 33 

40. Anti Majnoo Squard எனும் அடநப்ட஧ ப஧ண்க஭ின் 

஧ாதுகாப்புக்காக ஏற்஧டுத்தின நா஥ி஬ம்   

A) குஜபாத்   B) ககாயா  

C)  நணிப்பூர்  D) நத்தின஧ிபகதசம்                          
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41. ஧ின்யய௃ய஦யற்றுள் ஧த்ந ஸ்ரீ யிய௃து ப஧ற்஫யர்களுள் 

தய஫ா஦யர்    

A) யிபாட் ககாஹ்஬ி   B) தீ஧ா நா஬ிக்   

C) கீதா஬ட்சுநி  D) கசகர் ஥ானக்                                                         

42. பாணுயத்தின் ப௃ப்஧டைகளுக்கிடைகனனா஦ 

ஒத்துடமப்ட஧ அதிகரித்தல் நற்றும் பாணுய 

஥ிதிகந஬ாண்டநடன கநம்஧டுத்துதல் பதாைர்஧ாக 

அடநக்கப்஧ட்டுள்஭ குழு  

A) Ravi Kunha  B) D.B.ShekatKar 

C) Gunha   D) Saran Singh                                           

43. அ஫ியினலுக்கு அப்஧ால் என்஫ நூ஬ின் ஆசிரினர்  

A) பய. சுப்பு     

B) பய. பாநசுப்஧ிபநணினன்   

C) பாஜிவ் கந஦ன்     

D) அபயிந்தன்                                                                   

44. உ஬க சுகாதாப ஥ிறுய஦த்தின் சார்஧ில் சர்யகதச 

நய௃த்துய நா஥ாடு  ஥டைப஧஫வுள்஭ இைம்  

A) சிங்கப்பூர்   B) நக஬சினா  

C) புதுதில்஬ி   D) ைாக்கா 

45. fPo;f;fz;l $w;wpy; vJ jtwhdJ? 

je;ij nghpahh; xU 

I) r%f rPh;jpUj;jthjp 

II) tpLjiy Nghuhl;l tPuh; 

III) murpay;thjp 

IV) Njrpathjp 

A) I   B) II 

C) III   D) IV 

46. nghUj;Jf 

A B 
a) 1206 1. 

,y;Jj;kp
\; 

b) 1211 2. 
Fj;GjPd; 
Igf; 

c) 1236 3. ghy;gd; 

d) 1246 4. urpah 
 a

) 
b

) 
c

) 
d

) 
A 4 3 2 1 

B 2 1 3 4 

C 3 1 4 2 

D 2 1 4 3 
47. gpd;tUk; ,izapy; xUth; nghUshjhuj;jpd; 

je;ij kw;wth; etPd nghUshjhuj;jpd; 

je;ij vdg;gLthh;. rhpahd ,izia 

Njh;e;njL 

A) Mlk; ];kpj; - Nltpl; 
hpf;fhh;Nlh 

B) J.M. nfapd;]; - T.R. khy;j]; 
C) Mlk; ];kpj; - mk;hpj;ah nrd; 

D) Mlk; ];kpj; - J.M. nfapd;]; 
48. gpuhd;rpy; …… Kiw eilKiwapy; 

cs;sJ. 

A) xU fl;rp Kiw 

B) ,U fl;rp Kiw 

C) gy fl;rp Kiw 

D) Nkw;fz;l midj;Jk; 

49. ,uz;L cUisfspd; cauq;fs; KiwNa 1 

: 2 kw;Wk; mtw;wpd; Muq;fs; KiwNa 2 : 

1 vd;w tpfpjq;fspy; ,Ug;gpd; mtw;wpd; fd 

msTfspd; tpfpjk; 

A) 4 : 1   B) 1 : 4 

C) 2 : 1   D) 1 : 2 

50. xU Ntiyia 12 Mz;fSk;> 16 

ngz;fSk; 5 ehl;fspYk;> mNj Ntiyia 

13 Mz;fSk; 24 ngz;fSk; 4 ehl;fspy; 

nra;J Kbf;fpwhh;fs;. vdpy; xU ehspy; 

nra;af; $ba Mz;fSf;Fk; 

ngz;fSf;Fkhd tpfpjk; 

A) 3 : 1   B) 2 : 3 

C) 2 : 1   D) 4 : 5 

51. gpd;tUtdtw;Ws; vJ / vit Njrpa 

tpisahl;L gl;lq;fs;  

I) uh[Pt; fhe;jp Nfs; uj;dh gl;lk; 

II) mh;[_dh gl;lk; 

III) jahd; r;ej; gl;lk; 

IV) JNuhzhrhhpah; gl;lk; 

A) I, II kw;Wk; III kl;Lk; rhp 

B) II kw;Wk; IV jtwhdJ 

C) I, II,III kw;Wk; IV rhpahdJ 

D) II kw;Wk; III kl;Lk; rhp 
52. rhpahd tpilia Njh;e;njLj;J vOjTk;. 

3 5 8 7 
4 6 4 6 
5 2 2 3 
58 58 62 ? 

A) 126   B) 122 

C) 128   D) 124 
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53. tpLjpf; fhg;ghsuhd Fkhh; vd;gth;> 25 
khzth;fSf;F xU ehisf;F Njitahd 
rg;ghj;jpfs; vj;jid vd;W jPh;khdpf;f 
Ntz;Lk;.  khzth;fs; xU ehs; 

2,3,2,3,2,1,2,3,2,2,5,3,4,2,4,2,3,2,4,4,2,3,2,2,4.   

vd;w vz;zpf;ifapy; rhg;gpl;lhy;> ruhrhp> 
,ilepiy msT kw;Wk; KFL Mfpatw;Ws; 
vJ tpLjpf; fhg;ghsUf;F cjTk;? 

A) ruhrhp  

B) ,ilepiy msT 

C) KfL 

D) ,itfspy; vJTkpy;iy 
54. yjh> Rdpjhit tpl xU taJ nghpath;.  

Rdpjh> gpe;Jit tpl 2 Mz;Lfs; nghpath;.  
uh[d;> gpe;Jit tpl xU taJ nghpath;.  
vdpy; %thpy; ahh; rpwpath;? 

A) Rdpjh   B) yjh 

C) gpe;J   D) uh[d; 

55. 1/35 vd;gJ 2/7 y; vj;jid rjtpfpjk;? 

A) 2.5%   B) 5% 

C) 10%   D) 25% 

56. nuhl;bj; Jz;bd; tpiy 25% Mf 
cah;e;jhy;> 300 nuhl;bj; Jz;Lfs; thq;fpa 
njhifapy; vj;jid nuhl;bj; Jz;Lfs; 
thq;f KbAk;? 

A) 240   B) 250 

C) 260   D) 275 

57. A:B = 6:5, B:C = 5:8 kw;Wk; C:D = 7:9, vdpy; 

A:D = ? 

A) 3:7   B) 7:3 

C) 12: 7   D) 7:12 

58.  x:y = 1:2:3 kw;Wk; x
2
+y

2
+z

2
 = 224 vdpy;  

x
3
+y

3
+z

3
 d; kjpg;G vd;d? 

A) 576   B) 1728 

C) 2304   D) 2240 

59. %iy tpl;lk; 4√3 nr.kP msTila 
fdrJuj;jpd; fdmsT (f.nrhy;) 

A) 8 nr.kP3  B) 16 nr.kP 3 

C) 27 nr.kP 3  D) 64 nr.kP 3 
60. 6 Mz;fs;> xU Ntiyia ehnshd;Wf;F 10 

kzp Neuk; Ntiy nra;J 24 ehl;fspy; 
Kbg;gh;.  9 Mz;fs;> ehnshd;Wf;F 8 kzp 
Neuk; Ntiy nra;jhy; vj;jid ehl;fspy; 
mt;Ntiyia Kbg;gh;? 

A) 10 ehl;fs;  B) 15 ehl;fs; 

C) 20 ehl;fs;  D) 12 ehl;fs; 
61. ,uz;L Neh;tl;l $k;Gfs; xNu rkkhd 

Muq;fis nfhz;Ls;sJ.  mitfspd; rha; 
cauq;fs; 4:3 vd;w tpfpjj;jpy;p ,Ug;gpd; 
mitfspd; tisg;Gw gz;Gfs; KiwNa ----
----- tpfpjj;jpy; ,Uf;Fk;. 

A) 16:9   B) 2:3 

C) 4:3   D) 3:4 
62. 4 nr.kP gf;fk; nfhz;l xU fd rJuj;jpd; 

midj;J gf;fq;fSk; rptg;G tz;zk; G+rpa 
gpd; 1 nr.kP gf;fk; nfhz;l rpwpa fd 
rJuq;fshf gphpf;fg;gl;lhy; mtw;wpy; ,uz;L 
jsq;fs; tz;zk; G+rg;gl;l rpwpa fd 
rJuq;fs; vj;jid ,Uf;Fk;? 

A) 4   B) 8 

C) 12   D) 24 
63. gpd;tUk; njhlh; thpirapy; tpLgl;l vz; 

vd;d? 

6,11,18,27,38, ------ 66. 

A) 58   B) 54 

C) 51   D) 59 

64. X kw;Wk; Y vd;w ,uz;L fhh;fs; KiwNa 

A kw;Wk; B vd;w ,lq;fspy; ,Ue;J 
Gwg;gLfpwJ.  fhiy 9 kzpf;F fhh;fSf;F 
,ilNaahd Jhuk; 700 fp.kP ,uz;Lk; 60 

fp.kP/kzp vd;w ruhrhp Ntfj;py; gazpf;fpwJ.  

X vd;w fhh; fhiy 10 kzp Kjy; 11 kzp 
tiu Xa;T vLj;J gpd; jdJ gazj;ij 

njhlh;fpwJ.  Mdhy; Y ve;j Xa;Tk; 
vLf;ftpy;iy.  ,r;#oypy; ,uz;L fhh;fSk; 
vg;nghOJ xd;iw xd;W flf;Fk;? 

A) 1p.m.   B) 1.20p.m 

C) 2.20p.m.  D) 3.20p.m. 

65. UNHCR என்஧தன் யிரியாக்கம்  

A) United National High Common Regular 

B United Nations High Comissioner for Refugees 

C)Upper Nation High Cel Reange   

D) None of These  

66. இந்தினாயில் யிநா஦ க஧ாக்குயபத்து ப௃ழுயடதயும் 

டிஜிட்ைல்நனநாக்க பதாைங்கப்஧ட்டுள்஭ திட்ைம்  

A) கவுபவ் னாத்பா  B) டிஜி னாத்பா  

C) நக஦ாஸ் னாத்பா  D) ரஜி னாத்பா                                   

67. சர்யகதச ஜாஸ் தி஦ம் (International Jazz Day)  

A) ஏப்பல் 30  B) ஏப்பல் 15  
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C) ஏப்பல் 29   D) ஏப்பல் 28                                                                                                                              

68. பைஸ்ட் க஧ாட்டிக஭ில் யிட஭னாடி கயகநாக 

100பைஸ்ட் க஧ாட்டிகட஭ கைந்த ஥ாடு  

A) இந்தினா   B) யங்ககதசம் 

C) சீ஦ா                            D)க஧ா஬ந்து                                                 

69. G20 ஥ாடுக஭ில் ப஧ண் தட஬யர்க஭ின்  Women 20 

Summit ஥டைப஧ற்஫ இைம்  

A) இந்தினா   B) க஧ா஬ந்து 

C) பஜர்ந஦ி   D) சீ஦ா                      

70. kj;jpa njhopyhsH ke;jphp gz;lhU 

jj;jhj;Nuah $w;Wg;gb ~ngz;fSf;fhd  

vspa ghpR| vd;gJ 

A) ngz;fSf;fhd Kd;NdhH nrhj;J kPjhd 

chpikr; rl;lk; 

B) Ntiy nra;Ak; ,lq;fspy; 

Jd;gg;gLj;jg;gLjy; jLg;Gr; rl;lk; 

C) td;nfhLik jLg;Gr; rl;lk; 

D) NgWfhy gad;ghLfs; jpUj;jr; rl;lk; 

71. ,e;jpahtpNyNa kpf ePskhd rhiy Fifg; 

ghij 

A) kypFlh Fifg;ghij 

B) gpH gQ;rhy; Fifg;ghij 

C) gdpfhy; Fifg;ghij 

D) gl;dplhg; Fifg;ghij 

72. epj;jp MNahf; jiytH ahh? 

A) [dhjpgjp 

B) gpujk ke;jphp 

C) Jiz FbauRj; jiytH 

D) cr;r ePjpkd;w ePjpgjp 

73. fPo;f;fz;l thf;fpaq;fisf; ftdp. 

$w;W (A) : tspkz;ly caH mLf;Ffspy; 

fhzg;ghLk; fhw;Nwhl;lk; n[l;  fhw;Nwhl;lk; 

vdg;gLk;. 

fhuzk; (R) : ,f;fhw;Nwhl;lk; ,e;jpahtpd; 

gUtf; fhw;wpd; njhlf;fk; kw;Wk; KbtilAk; 

fhyj;ij epHzapf;fpwJ. 

,tw;Ws; vJ rhp vd jPHkhdpf;fTk;. 

A) (A) kw;Wk; (R) ,uz;Lk; rhp 

B) (A) kw;Wk; (R) ,uz;Lk; jtW 

C) (A) rhp Mdhy; (R) jtW 

D) (A) jtW Mdhy; (R) rhp 

74. Muty;yp kiyj;njhlhpy; cw;gj;jpahFk; ejp 

A) rhk;gy;  B) eHkjh 

C) Y}dp   D) jgjp 

75. cyf vOj;jwpT jpdk; nfhz;lhlg;gLk; 

ehs; vJ? 

A) 8tJ khHr;  B) 2tJ mf;NlhgH 

C) 8tJ nrg;lk;gH D) 5tJ khHr; 

76. gpd;tUtdtw;Ws; ve;j thf;fpak; jtwhf 

,izf;fg;gl;Ls;sJ vJ? 

A) tpjp – 53 – [dhjpgjpapd; eph;thf 

mjpfhuk; gw;wp $WfpwJ 

B) tpjp – 54 [dhjpgjp Njh;e;njLf;fg;gLk; 
Kiw gw;wpaJ 

C) tpjp – 55 – [dhjpgjpf;fhd jFjpfs; 
gw;wp $WfpwJ. 

D) tpjp – 56 – [dhjpgjpapd; gjtpf; fhyk; 
kw;Wk; gjtp tpyfy; gw;wpaJ 

77. ekJ ehl;bd; fly; rhh;e;j mjpfhu 

tuk;gpid cUthf;fpaJ? 

A) 40 tJ murpayikg;G jpUj;jk; 

B) 41 tJ murpayikg;G jpUj;jk; 

C) 42 tJ murpayikg;G jpUj;jk; 

D) 43 tJ murpayikg;G jpUj;jk; 

78. ePjpgjp rrhh; FO epWtg;gl;lJ 

A) rpWghd;ikapdhpy; r%f kw;Wk; fy;tp 

hPjpahf gpd;jq;fpAs;s kf;fSf;fhd 

eyd;fis ghpe;Jiu nra;a 

B) gpd;jq;fpa r%fj;jpdUf;fhd eyd;fis 

ghpe;Jiu nra;a 

C) ngz;fspd; eyd;fSf;fhd 

ghpe;Jiufis Nkw;nfhs;s 

D) %d;whk; ghypdj;jtUf;fhd eyd;fis 

ghpe;Jiu nra;a 

79. gFjp – m tpy; cs;s $l;lzp 

murhq;fq;fSld; gFjp M tpy; cs;s 

gpujk ke;jphpfis nghUj;Jf 

gFjp m gFjp M 
a) Njrpa Kd;dzp - 1. Njt fTlh 

b)If;fpa Kd;dzp - 2.tp.gp. rpq; 

c)Njrpa [dehaff; 
$l;lzp 

-3.Dr.kd;Nkhfd;rpq; 

d)If;fpa Kw;Nghf;F 
$l;lzp 

- 4.A.B. th[;ghap 

 a) b) c) d) 
A) 2  4 1 3 

B) 2 1 4 3 
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C) 3 1 4  2 

D) 1 3 2 4 
80. gpd;tUk; njhlhpy; cs;s jtwhd vz;iz 

Njh;T nra;f 

3, 8, 15, 24, 34, 48, 63 

A) 8   B) 63 

C) 34   D) 3 

81. Ie;J tiuNfhy; kw;Wk; ehd;F mopg;ghdpd; 

tpiy 13 mNj Nghy; xd;gJ tiuNfhy; 

kw;Wk; Ie;J mopg;ghdpd; tpiy  19 vdpy; 

MW tiuNfhy; kw;Wk; %d;W mopg;ghdpd; 

tpiy vd;d? 

A)  9   B)  12 

C)  15   D)  18 

82. 370- d; 88% + 210 - d; 24% -? = 118 

A) 412   B) 36 

C) 258   D) 327 

83. ,e;jpahtpd; Kjy; Kjypy; ,uapy; ,Ug;G 

ghij ……… f;Fk; …………….. f;Fk; 

,ilNa Nghlg;gl;lJ 

A) jhh;thh; kw;Wk; fy;ahz; 

B) jhNd kw;Wk; fy;ahz; 

C) jhjh; kw;Wk; fy;ahz; 

D) gk;gha; kw;Wk; fy;ahd; 

84. gl;bay; I -Tld; gl;bay; II -I ,ize;J 
rhpahd tpilia njhpe;njLf: 

 gl;bay; I gl;bay; II 
1. Rd;[pA Fthq; - nraw;if 

,uj;j ehsk; 
cUthf;fpdhh; 

2. Mnyf;]hz;lh; 
fnyrp 

- Gw;WNehia 
Fzg;gLj;Jk; 
gj;J Neha; 
caph;nfhy;ypia 
cUthf;fpdhh; 

3. gpuh]h; 
];lhlh;l; 

- kdpj 
fUKisapd; 
kugDit 
gjpg;gpj;jhh; 

4. gPl;lh; 
fphp];ld;rd; 

- nraw;if 
mZj;jpuz;kk; 
Foha; 

A) 4321   B) 1432 

C) 3142   D) 2134 
85. Gtp epiyik nraw;iff;Nfhs; Gtpia xU 

KO Rw;W tu vLj;Jf; nfhs;Sk; Neuk; 

A) G+[;ak;   B) 12 kzpNeuk; 

C) 24 kzp Neuk; D) 48 kzpNeuk; 
86. md;dG+uzh jpl;lj;jpd; Nehf;fk; 

A) %j;j Fbkf;fSf;F czT ghJfhg;G 
toq;Fjy; 

B) Foe;ijfSf;F czT ghJfhg;G 
mspg;gJ 

C) ngz;fSf;f czT ghJfhg;G mspg;gJ 

D) fUTw;w ngz;fSf;F czT ghJfhg;G 
toq;Fjy; 

87. ghuj; eph;khd; jpl;lj;jpd; Nehf;fk; 

A) fpuhk kf;fSf;F fy;tp trjp nra;J 
jUtJ 

B) fpuhk kf;fSf;F mbg;gil trjp nra;J 
jUtJ 

C) fpuhk kf;fSf;F Ntiy tha;g;G trjp 
nra;J jUtJ 

D) fpuhk kf;fSf;F Rfhjhu trjp nra;J 
nfhLg;gJ 

88. ,e;jpahtpy; 1867-68y; jdpegh; tUkhdk; 
gw;wp Kjypy; Muha;e;jth; ahh;? 

A) M.G. uhdNl   

B) W. `d;lh; 

C) R.C. jj;    

D) jhjhgha; nesNuh[p 
89. fPo;fz;ltw;Ws; ve;j $w;W Gjpa 

nghUshjhu nfhs;ifAld; njhlh;ghdJ? 
1. tzpf nfhs;ifia khw;wp mikj;jy; 
2. epjpg; gw;whf;Fiwia Fiwj;jy; 
3. njhopy; Jiwia ngUf;Fjy; 
4. khw;WtPjk; 

A) 1 kw;Wk; 2  B) 1>2 kw;Wk; 3 

C) 3 kw;Wk; 4  D) 2>3 kw;Wk; 4 

90. B ia tpl A %j;jth;> C vd;gth; B ia 

tpl %j;jtuhfTk; Ait tpl 

,isatuhfTk;> D vd;gth; E kw;Wk; B ia 

tpl ,isatuhfTk;> B vd;gth; E ia tpl 
%j;jtuhfTk; cs;sdh;.  vdpy; ,jpy; 
kpfTk; ,isath; ahh;? 

A) A   B) B 

C) C   D) D 

91. uhk; vd;gth; 20%yhgj;jpw;F &. 405-f;F xU 
fbfhuj;ij tpw;why; mjd; mlf;f tpiy 
vd;d;? 

A) Rs. 337.50  B) Rs. 87.50 

C) Rs. 237.50  D) Rs. 237 
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92. SOLAR vd;gij WSPEV vd;Dk; FwpaPl;lhy; 

Fwpj;jhy; LUNAR vd;gJ vt;thW Fwpf;Fk;? 

A) PXREV  B) PYREV 

C) PXQEV  D) PYCEV 

93. ,uhkhD[h; #j;jpuh;fSf;F „eNkh ehuhadh‟ 
ke;jpuj;ijf; fw;Wf;nfhLj;J> mth;fis 
itzt rkaj;jpw;F khw;wk; nra;J> 
mth;fis gpd;tUk; ve;j ngauhy; 
mioj;jhh;? 

A) Mjp jpuhtplh;fs; B) jpUf;Fsj;Njhh; 

C) jypj;Jfs;  D) `hp[d; 

94. „gird; xg;ge;jk;‟ Mq;fpNyah;fSf;Fk; 
ahUf;FkpilNa xg;ge;jkhdJ? 

A) tp];tehj;  B) gh[puht; 

C) ghyh[p uht;  D) rpe;;jpah 
95. <.nt.uhtpd; itf;fk; Nghuhl;lj;jhy; Vw;gl;l 

kpfr; rhpahd tpisTfs; vit? 

I. <.nt.uh „itf;fk; tPuh;‟ vd;wiof;fg;gl;lhh;. 
II. jPz;lj;jfhjth;fs; itf;fk; kfhNjtd; 
Nfhapypy; nrd;W topghL nry;y 
mDkjpf;fg;gl;ldh; 

III. jPz;lj;jfhjth;fs; itf;fk; kfhNjth; 
Nfhapiyr; Rw;wpAs;s tPjpfSf;Fr; nry;y 
mDkjp;f;fg;gl;ldh;. 

IV. itf;fk; Nghuhl;lk; xU rpy gphptpduhy; 
elj;jg;gl;lJ 

A) I kw;Wk; II  B) I kw;Wk; III 

C) II kw;Wk; III  D) I kw;Wk; IV 
96. jkpofj;jpy; cg;G rj;jpahfpu`g; 

Nghuhl;lj;jpy; <Lgl;ljw;fhf Xuhz;L fhyk; 
rpiw tpjpf;fg;gl;L> ifJ nra;ag;gl;l Kjy; 
ngz; tpLjiy Nghuhl;lg; ngz;kzpia 
milahsk; fhz;. 

A) Uf;kzp yl;Rkpgjp  

B) Nfg;ld; yl;Rkp 

C) lhf;lh;. Kj;Jnyl;Rkp nul;b 

D) ehfk;ikahh 
97. ghkpdp NguuRf;F tp[ak; nra;j u~;a 

gazp ahh;? 

A) ,gd; gJhjh  

B) khh;Nfh NghNyh 

C) mjdrpa]; epfpbd; 

D) epf;Nfhyh-b-fhd;b 

98. “FUj;thuh” gw;wp fPo;fz;ltw;iw 
ftdpf;fTk;: 
1. flTspd; ,y;yj;jpw;F nry;yf;$ba 
ghij vd;Dk; nghUs;gLk; rPf;fpa Gdpj 
];jyk; FUj;Jthuh MFk;. 
2. Kjy; FUj;Jthuhit FU ,uhk; rpq; 
fl;bdhh;. 
3. rPf;fpa FUj;Jtuhf;fs; rka nfhbahd 
ep~hd; rhfpg;ig FUj;Jthuhf;F Kd;Gwk; 
itf;f Ntz;Lk;. 
rhpahd FwpaPl;il Njh;e;njLf;fTk;: 

A) 1 kw;Wk; 3 kl;Lk; 

B) 1 kl;Lk; 

C) 2 kw;Wk; 3 kl;Lk;   

D) 1>2 kw;Wk; 3 kl;Lk; 

99. $w;W (A) : fhfh; ejp cs;ehl;L 
tbfhyikg;ig nfhz;lJ> 

fhuzk; (R) : ,e;ejp ,uh[];jhd; 
khepyj;jpd; kzw;gug;gpy; ePiu ,oe;J 
tpLfpd;wJ. 

A) (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) 

vd;gJ (A) –apd; rhpahd tpsf;fkhFk;. 
B) (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R) 

vd;gJ (A) –apd; rhpahd tpsf;fky;y. 
C) (A) rhp Mdhy; (R) jtW  

D) (A) jtW Mdhy; (R) rhp  

100. C+I+G+(X-M) – vd;w #j;jpuj;jpypUe;J 
,jid fzf;fplyhk;. 

A) GDP – nkhj;j cs;ehl;L cw;gj;jp 

B) NNP – epfu Njrpa cw;gj;jp 

C) PI – jdpegh; tUtha; 
D) GNP – nkhj;j Njrpa cw;gj;jp 
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Model Test 6 (General Studies) - TNPSC Group 2 (A)
1. Where did Gandhiji announce his ―Action 

plan of Satyagraha‖ against Rowlatt Act? 

A) Delhi   B) Sabarmathi 

C) Bombay  D) Chennai 

2. In which year the golden temple at Amristar 

was built? 

A) 1754   B) 1764 

C) 1774   D) 1784 

3. ―Dauladabad was a mounment of misdirected 
energy‖ – Who said this? 

A) Dr. Ishwari Prasad B) Barani 

C) Lane Poole  D) Edward Thomas 

4. Who used the term Dravidian to denote the 

South Indian people for the first time? 

A) GnanaSambandhar B) Rev. Schwarts 

C) Bishop Caldwell D) G.U. Pope 

5. TamilNadu government had set-up a three 

member committee to enquire into and 

examine the question of centre and state 

relations headed by 

A) Dr. A. Appadurai  

B) B. Shiva Rao 

C) Justice Mohan   

D)P.V. Rajamanner 

6. If 2x = 3y = 4z then x:y:z is 

A) 3:4:6   B) 4:6:3 

C) 6:4:3   D) 2:4:3 

7. LCM and HCF of two polynomials are x
6
-1 

and x+1 respectively.  If one of the 

polynomial is x3+1 then the other polynomial 

is 

A) x
3
-1   B) (x

3
-1) (x+1) 

C) x
6
-1   D) (x

6
-1)(x+1) 

8. A cylindrical shaped well of depth 30m and 

diameter 28m is dug. The dug out soil is 

evenly spread to form a Cuboid-platform with 

base dimension 30m×28m.  Find the height of 

the plat form 

A) 44m   B) 33m 

C) 11m   D) 22m 

9. If you write all the numbers from 1 to 100, 

then how many times do you write 3? 

A) 20   B) 19 

C) 11   D) 18 

10. If a,b,c,l,m are in A.P. then the value of 2a-b-

2c-l+2m is 

A) 1   B) 2 

C) 3   D) 0 

11. The price of 2 sarees and 4 shirts is Rs. 1,600 

with the same money, one can buy 1 saree and 

6 shirts.  If one wants to buy 12 shirts, how 

much shall he have to pay? 

A) 1200   B) 2400 

C) 4800   D) 3600 

12. From a circular card sheet of radius 14cm, two 

circles of radius 3.5cm and a rectangle of 

length 3cm and breadth 1 cm are removed.  

Two identical right triangles whose legs are  

of length 3 cm and 4 cm are joined.  Then the 

area of the newly formed card is 

A) 548cm2  B) 616cm2 

C) 708cm2   D) 748cm2 

13. A hollow sphere in which a circus 

motorcyclist performs his stunts, has an inner 

radius of 7m.  Find the area available to the 

motorcyclist for riding.  (Take п=22/7) 
A) 525 sq.m  B) 616 sq.m 

C) 714 sq.m  D) 728 sq.m 

14. 3 years ago the average age of a family of 5 

members was 17 years.  After A baby born, 

the average age of the family is the same 

today.  The present age of the baby is 

A) 1 year   B) 1 ½ years 
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C) 2 years   D) 3 years 

15. The simple interest at 5% per annum for 5 

years will be Rs.5 on a principal of 

A) Rs. 5   B) Rs. 500 

C) Rs. 200   D) Rs. 20 

16. The most centrally located meridian (82° 30‘ 
E) at India passes through 

A) Ahmadabad  B) Allahabad 

C) Hyderabad  D) Auranghabad 

17. ______is one wherein very little investment is 

involved. 

A) Large scale industry 

B) Small scale industry  

C) Cottage industry 

D) Medium scale industry 

18. Which Constitutional Amendment changed 

thePreamble of the Constitution of India? 

A) 42nd Amendment B)61st Amendment 

C)72nd Amendment D)74thAmendment 

19. The Cantonment Board are administrated by 

________Government. 

A) State Government   

B) Union territories 

C) Central Government  

D) Local self Government 

20. Which of the following statement is wrong? 

A) In a Republic, Citizens have equal rights 

B)Avvai home is an orphanage for girls 

C) Democracy creates an equal society 

D) The first women doctor in India is Dr. 

Muthulakshmi Reddy 

21. Six men working 10 hours a day can do a 

piece of work in 24 days.  In how many days 

will 9 men working for 8 hours a day do the 

same work? 

A) 10 days   B) 15 days 

C) 20 days   D) 12 days 

22. Two right circular cones have equal radii.  If 

their slant heights are in the ratio 4:3, then 

their respective curved surface areas are in the 

ratio. 

A) 16:9   B) 2:3 

C) 4:3   D) 3:4 

23. Within how many days a minister has to 

become a member of either house of 

parliament, if he is not already a member of 

either house of parliament? 

A) 60 days   B) 180days 

C) 30 days   D) 150days 

24. Solar eclipse occur when the 

A) Sun is inbetween moon and earth 

B) Moon is inbetween sun and earth 

C) Earth is inbetween moon and sun 

D) Earth, Sun and Moon are in a curvilinear 

position. 

25. The Western disturbances, which affects the 

weather of north-west india originates in 

A) Mediterranean sea B) Arabian sea 

C) Caspian sea  D) Dead sea 

26. India‘s first book village will be inaugurated 
_________ Maharashtra 

A) Andharwadi  B) Bhilar 

C) Beldari   D) Chikhali 

27. A small Panchayat ward in ______ became 

India‘s first digitalized panchayat ward. 
A) Telegana  B) Punjab 

C) Rajasthan  D) Kerala 

28. What is capital of Albania? 

A) Tirana   B) Berat 

C) Elbasan   D) Fier 

29. Abbrevation of FATCA stands for: 

A) Financial Account Tax Compliance Act 

B) Foreign Account Transaction  Compliance 

Act 

C) Foreign Account Tax Compliance Act 

D) Financial Account Transaction Compliance 

Act 

30. Which union ministry is observing Swachhta 

Pakhwada  from May 1 to 5, 2017? 

A) Finance   B) External Affairs  

C) Home Affairs   D) Textiles 

31. The theory of sea-floor spreading was 

formulated by 

A) Alfred Wegner  B) W.M. Davis 

C) Prof. Harry Hers D) Arthur Holmes 

32. Hyper loop is a 

A) Proposed mode of transportation 

B) New pipe loop model 

C) New computing architecture 

D) Bullet train 

33. Who led the 1857 revolt in Central India? 

A) Nana Sahib   

B) Begum of Oudh 
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C) Rani Lakshmi Bhai of Jhansi 

D) Tantya Tope 

34. The Principle used for transmission of light 

signals through optical fibers is 

A) Interference   

B) Diffraction 

C) Polarisation   

D) Total internal reflection 

35. Which of the following statements about urea 

is incorrect? 

A) It does not change the pH of soil 

B) It has highest nitrogen content equal to 

76.6% 

C) It is not subjected to fire/explosion hazards 

D) It can be used for all crops and soils 

36. Which allotropic form of carbon is a good 

conductor of electricity? 

A) Diamond  B) Graphite 

C) Coke   D) Wood charcoal 

37. Plectenchyma is a Tissue composed of 

A) Parenchyma   

B) Collenchyma 

C) Sclerenchyma  

D) Mycelial/threads of Fungi 

38. Phyllode is a modification of following plant 

part. 

A) Stem   B) Leaf 

C) Petiole of leaf  D) Stem tip 

39. One gene one enzyme hypothesis is proposed 

by 

A) Watson and Crick  

B) Jacob and Monod 

C) Beadle and Tatum 

D) Landsteiner and Weinberg 

40. Match List I with List II and select the correct 

answer using the codes given below: 

 List I 

(Plant) 

List II Climate) 

a) Teak -1)Cool 

temperate 

continental 

b)  Olive -2)Hot desert 

c) Cactus -3)Tropical 

monsoon 

d) Spruce - 4)Mediterranean 

A) 3421   B) 4312 

C) 1324   D) 4321 

41. Which one of the following officials, has the 

right to speak and take part in the proceedings 

of either house of parliament without right to 

vote? 

A)Chairman of Union Public Service 

Commission 

B) Attorney General of India 

C) Governor 

D) Election Commissioner 

42. From which language was the term 

―Democracy‖ derived? 

A) Latin   B) Greek 

C) Arabic   D) Persian 

43. Which, acid is responsible for the metabolism 

of our body? 

A) HNO3   B) H2SO4  

C) HCL   D) CH3COOH 

44. Which one of the following is not a Lewis 

Acid? 

A) BF3   B) AlCl3 

C) BeCl2   D) SnCl4 

45. Pickup the correctly matched answer : 

List I   List II 

A) CO(NH2)2  1.Super phosphate 

B) CaSO4. 2H2O  2.Urea 

C) Ca(H2PO4)2  3.Indian Saltpetre 

D) KNO3   4. Gypsum 

 A) B) C) D) 

A) 2 4 1 3 

B) 4 3 2 1 

C) 3 1 4 2 

D) 1 4 3 2 

46. Parasitic plants have some special roots called 

A) Mycorhizae roots B) Haustoria 

C) Epiphytic roots  D) Storage roots 

47. Which of the following is correctly matched?

  

I. Mahendravarman - Rock cut temple 

II. Narasimhavarman-  Single stone Rathas 

III. Raja Simhan       - Mahabalipuram shore 

temple 

A) I and II   B) II and III 

C) I and III  D) I, II and III 

48. World Consumer Day is celebrated on  
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A) March 15   B) March 16  

C) March 14  D) March 11 

49. The city where the first Sangam was held in 

A) KoodalNagar  B) Thenmadurai  

C) Madurai   D) Kapadapuram 

50. Match the following:  

Author   Books  

A) Plato    1. Six Books on the   

                                  Republic 

B) Rousseau    2. Prince 

C) Niccolo  

Machiavelli   3.Republic 

D) Jean Bodin   4.Social contract

  

     A)   B) C) D)  

A) 1  2 3 4  

B) 2 4 1 3 

C) 3 4 2 1 

D) 3 2 1 4 

51. Find the value of 
                                                                   

A) 230   B) 330 

C) 430   D) 530 

52. The population of a village is 50,000, 40% of 

them are men, 35% of them are women and 

the rest are children.  Find the number of 

Children? 

A) 12,000   B) 12,500 

C) 17,500   D) 13,500 

53. The sum of the ages of a son and father is 72 

years.   After 12 years the age of the father 

will be 3 times that of the son.  What is the age 

of the son now? 

A) 12   B) 22 

C) 14   D) 16 

54. Sum of all 2 digit natural numbers which are 

divisible by 7 is 

A) 777   B) 1728 

C) 1777   D) 728 

55. HCF of 3240, 3600 and a third number is 36 

and their LCM is 2
4
×3

5
×5

2
×7

2
.  The third 

number is 

A) 2
5
×5

2
×7

2  
B) 2

3
×3

5
×7

2 

C) 2
2
×5

3
×7

2  
D) 2

2
×3

5
×7

2
 

56. A shopkeeper mixes 20 kgs of rice which cost 

Rs. 5 per kg with 35kg of rice which cost Rs. 

7per kg.   Then he sells the mixture at Rs. 6.50 

per kg.  Find his profit percentage. 

A) 3%   B) 3 40/67% 

C) 4 34/69%  D) 3 43/69% 

57. Find the value of √   √   √   √   

A) 5   B) 6 

C) 7   D) 8 

58. Sita and Geetha can do a job in 15 days and 10 

days respectively.  They began to work 

together but Sita leaves after some days and 

Geetha finishes remaining job in 5 days.  After 

how many days did Sita leave? 

A) 3   B) 6 

C) 8   D) 10 

59. Kumar is incharge of a hostel mess.  He has to 

decide upon the number of chapatis needed for 

25 students every day.  Suppose the students 

eat the following no. of chapatis: 

2,3,2,3,2,1,2,3,2,2,5,3,4,2,4,2,3,2,4,4,2,3,2,2,4.  

Among mean, median and mode which is 

A) Mean   B) Median 

C) Mode   D) None 

60. Latha  is a year older than Sunita. Sunita is 

two years older than Bindu.  Rajan is a year 

older than Bindu.  Who is the youngest of all? 

A) Sunita   B) Latha 

C) Bindu   D) RajanIn France 

61. _______system is in practice.  

A) Single party system B) Bi-party system 

C) Multi-party system D) All the above  

62. The total permanent membership of UN 

(United Nation) Security Council is 

A) 5    B) 10 

C) 15    D) 20 

63. Match the following given under Column A 

with Column B and select the correct answer 

from the codes given below:  

Column A    Column B 

A) Leaf tendril  1.Opuntia plant 

B) Leaf spines  2.Pitcher plant 

C) Leaf surface        3.Utricularia 

D) Bladder  4.Pea plant 

     A)   B) C) D) 
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A) 4  1 2 3 

B) 1 3 2 4 

C) 2 4 3 1  

D) 3 2 1 4 

64. Which of the following statements about 

NaHCO3 is TRUE?  

I.It is an ingredient in antacid 

II. It is used to make cakes and bread soft and 

spongy 

III. It is used in softening hard water 

A) I and II   B) I and III  

C) II and III   D) III only 

65. The largest municipal waste to power plant of 

India has been inaugurated in which  city? 

A) Bengaluru  B) Chennai 

C) New delhi  D) Indore 

66. Which of the following war correspondent 

who broke the news of the Nazi Invasion of 

Poland has died in Hong kong at age of 105? 

A) Hubert Braiser       

B) Clare Holling Worth 

C) Philip Hammond   

D) Theresa May 

67. In which among the following cities Prime 

Minister Narendra Modi has inaugurated the    

‗The Nobel Prize‘ exhibition recently? 

A) Cochin   B) Chennai 

C) Kolkata   D) Ahmedabad 

68. Where is the head quarters of FIFA? 

A) Vienna, Austria B) Paris, France 

C) Zurich, Switzerland D) New York, USA 

69. Who among the following has been appointed 

as the new chairman of Tata group recently? 

 A) B Muthuraman  B) Ishaat Hussain 

 C) N Chandra Sekaran D) Noel Tata 

70. Match the List I with List II correctly and 

select your answer using the codes given 

below: 

S.No

. 

List I List II 

1. Article – 45 - Rehabilitation of 

Girls 

2. Children‘s Day - Free and 

Compulsory 

Education 

3. Dowry 

Prohibition Act 

- 14, November 

4. Short Stay home - 1961 

A) 2431   B) 4321 

C) 2341   D) 3412 

71. Tamil Nadu NugarvorKavasam is a  

Assertion A): In traffic signals red colour light 

is used to stop vehicles. 

Reason (R): Red light has smaller wavelength 

and hence amount of scattering is less. 

A) A) is correct (R) is wrong 

B) A) is wrong (R) is correct 

C) Both A) and (R) are correct 

D) Both A) and (R) are wrong 

72. The country‘s industrial production grew upto 
how many percent in November, 2016 

compared to a contraction of 3.4% in 

November of the year 2015? 

 A) 7.1%      B) 4.6%       C) 5.7%       D) 6.5% 

73. ________has successfully crossed the 

50GWpower generation capacity on April 1, 

2017. 

A) NLC        B) NTPC  

C) NPCL      D) SPCL  

74. On 1
st
 April 2017, RBI (Reserve Bank of 

India) celebrated its ________ establishment 

day 

A) 72
nd

   B) 77
th

      C) 82
nd

 D) 87
th

   

75. Tax evasion over Rs_______crore is a non 

bailable offence under GST Regime. 

A) 3 B) 2  C) 4  D) 5 

76. First bio gas bus with flat Rs.1 fare 

inaugurated in which city? 

A) Newdelhi  B) Mumbai 

C) Mysore   D) Kolkata 

77. Scientist from India have discovered 

indications of a massive planet orbiting a low 

mass x-ray binary star system . This x- ray 

binary star system is named as: 

A) KxB 3658-298  B) LxB 2658 -298 

C) MxB 1658 - 298 D) MxB 4658 - 298    

78. UPSC, chair person and members are 

appointed by 

A) President   

B) Prime Minister 

C) Vice President   

D) Supreme Court Judge 

79. Which of the following is not included in 

the union list? 

A) External affairs B) Public health 

C) Audit and Account D)Defence 

80. The longest cycle highway in India is 

located in 
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A) Uttar Pradesh  B)Madhya Pradesh 

C) Maharashtra  D)New Delhi 

81. What percent of 2/7 is 1/35? 

A) 2.5%   B) 5% 

C) 10%   D) 25% 

82. The price of a loaf of bread was increased by 

25%.  How many loaves can be purchased for 

the amount that used to buy 300 loaves? 

A) 240   B) 250 

C) 260   D) 275 

83. If A:B = 6:5, B:C = 5:8 and C:D = 7:9, then 

the ratio A:D is 

A) 3:7   B) 7:3 

C) 12: 7   D) 7:12 

84. If x:y:z = 1:2:3 and x
2
+y

2
+z

2
 = 224 then the 

value of x
3
+y

3
+z

3
 is 

A) 576   B) 1728 

C) 2304   D) 2240 

85. What is the volume of a cube (in cubic cm) 

whose diagonal measures 4√3cm is, 
A) 8cm

3
   B) 16cm

3
 

C) 27cm
3
   D) 64cm

3
 

86. Assertion A): Extra — Tropical cyclones are 

formed in mid - latitudes. 

Reasoning (R): The warm and cold fronts 

converge in mid — latitudes. 

A) Both A) and (R) are true and (R) is the 

correct explanation of A) 

B) Both A) and (R) are true but (R) is not the 

correct explanation of A) 

C) A) is true but (R) is false 

D) A) is false but (R) is true 

87. The Jog fall is located on the river 

A) Sharavati  B)Cauvery 

C) Krishna  D)Godawari 

88. Which one of the following cases is not 

directly related to Article 21 and provision of 

right to life in the Indian Constitution? 

A) A.K GopalanVs. State of Madras 

B) Menaka Gandhi Vs. Union of India  

C) Express News papers Vs. Union of India 

D) Pavement Dwellers Case  

89. India‘s Human Development Index HDI in 
2011 was better than that of 

I. China   II. Srilanka 

III. Bangladesh  IV. South Africa 

A) I, II, III, IV  B)III, IV 

C) III   D)II, III, IV 

90. Match List I with List II and select the correct 

answer using the code given below the lists : 

 List I          List II  

A) Kalibangan  1.Gulf of Cambay 

B) Surkotada  2.Madurai 

C) Lothal   3.Rajasthan 

D) Khizhadi  4.Gujarat 

 A) B) C) D) 

A) 4 3 1 2 

B) 3 4 1 2  

C) 1 3 2 4  

D) 2 1 3 4 

91. Which one of the following European war was 

associated with Third Carnatic War? 

A) The Seven Year‘s War 
B) The War of Austrian Succession 

C) The War of Roses  

D) The Austro-Prussian War 

92. The State Reorganisation Act was passed in 

A) October 1956  B) June 1956 

C) November 1956 D) July 1956 

93. Point out the correct statement in the 

following : 

A) Indus people Worshiped Lord Indra 

B) Indus civilization was a rural civilization 

C) Iron was unknown to the Indus people 

D) The ‗Great bath‘ was located at Harappa 

94. In which of the following option, the Indian 

states are arranged in descending order based 

on their size of population? 

A) Uttar Pradesh - Bihar - West Bengal - 

Maharastra 

B) Bihar - West Bengal - Uttar Pradesh - 

Maharastra set  

C) Uttar Pradesh - Maharastra - Bihar - West 

Bengal 

D) Uttar Pradesh -Maharastra- West Bengal -

Bihar 

95. Match List -1 (Planet) with List - II (Moon):

 1 

 List -1   List — II 

A) Jupiter   1. Triton 
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B) Saturn   2. Miranda 

C) Uranus   3. Europa 

D) Neptune  4. Titan 

 A) B) C) D)  

A) 3 2 4 1  

B) 1 3 2 4  

C) 3 4 2 1  

D) 4 3 1 2  

96. Match List - I with List - II: 

List -I    List -II 

International Airport  City 

A) Dr.BabasahebAmbedkar 1.Gauwahati 

B) Ch. Charan Singh  2.Varanasi 

C) Lai BahadurSastri  3.Lucknow 

D) LokpriyaGopinathBordolio 4.Nagpur 

 A) B) C) D)  

A) 4 2 1 3 

B) 3 2 4 1  

C) 3 4 2 1 

D) 4 3 2 1 

97. ________river is called the ‗Red 
river‘ of India. 

A) Ganga   B) Kosi 

C) Damodar  D) Brahmaputra 

98. The main functions of NITI Aayog does not 

include 

A) monitoring and evaluation of programmes 

and initiatives 

B) developing mechanisms to formulate 

credible plans at village level  

C) disbursal of funds to central ministries and 

state governments 

D) fostering co-operative federalism and 

designing strategic policy 

99. The term demographic dividend refers to 

A) decline in population 

B) increase in working class  

C) decline in birth rate  

D) decline in fertility rate 

100. The largest share of energy is consumed 

by 

A) Agriculture    

B) Rural power supply 

C) Urban power supply   

D) Industry 
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General Tamil 6 key 

1 B 21 B 41 A 61 D 81 C 

2 C 22 A 42 D 62 A 82 C 

3 B 23 C 43 C 63 A 83 C 

4 A 24 C 44 A 64 A 84 B 

5 C 25 B 45 B 65 D 85 D 

6 C 26 B 46 C 66 A 86 A 

7 B 27 B 47 B 67 B 87 C 

8 D 28 D 48 B 68 C 88 A 

9 C 29 A 49 C 69 A 89 C 

10 C 30 A 50 B 70 B 90 D 

11 A 31 B 51 B 71 C 91 B 

12 A 32 B 52 C 72 A 92 C 

13 B 33 B 53 D 73 D 93 B 

14 B 34 D 54 A 74 D 94 C 

15 B 35 B 55 B 75 C 95 D 

16 B 36 C 56 B 76 C 96 B 

17 B 37 A 57 D 77 D 97 D 

18 A 38 B 58 A 78 C 98 C 

19 B 39 A 59 A 79 C 99 A 

20 B 40 A 60 D 80 D 100 A 
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